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Question Id : 87827025245 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

The following table shows the number of buildings constructed in six different towns A - F of a
state S over the seven years from 2016-2022. Based on the data in the table, answer the questions

that follow.
Town-wise Details of Buildings Constructed.

Yeart o6 o0t | 2018 | 2019 | 020 | 2001 | 2022

Town
A 13000 | 3160 | 3220 | 5272 | 3300 | 3320 | 3400

2500 | 2568 | 2640 | 2670 | 2792 | 2800 | 2900
2960 | 3000 | 3090 | 3100 | 3192 | 3200 | 3268
5448 | 3500 | 3600 | 3640 | 3664 | 3760 | 3792
2040 | 2100 | 2200 | 2230 | 2320 | 2350 | 2580
2277 | 2380 | 2460 | 2480 | 2530 | 2560 | 2588
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Sub questions

Question Number : 1 Question Id : 87827025246 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Across the state 5, the total number of buildings constructed in 2016 is approximately
% of the total number of buildings constructed in 2018 ?

Options :

87827099641. 1
87827099642. 2
87827099643. 3

87827099644. 4

Question Number : 2 Question Id : 87827025247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is the total number of buildings constructed in Town B over all the seven years ?
(1) 17870

) 18780

) 17780

) 18870
Options:
87827099645. 1
87827099646. 2
87827099647. 3

87827099648. 4



Question Number : 3 Question Id : 87827025248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

What is the percentage increase in the number of buildings constructed in Town D in 2018 with
reference to the previous vear ?

(1) 38 %

(2) 28 %

(3) 48 %

(4) 4%
Options :
87827099649. 1
87827099650. 2
87827099651. 3

87827099652. 4

Question Number : 4 Question Id : 87827025249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[n the context of towns E and F together, what is the difference between the number of buildings
constructed in 2021 and that in 2017 ?

1) 630

) 830
) 430
4 410

H=

Options :
87827099653. 1
87827099654. 2

87827099655. 3

87827099656. 4



Question Number : 5 Question Id : 87827025250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Total number of buildings constructed over the years from 2020 to 2022 is more than 8500 in
exactly towns,

1) 2
Q) 3
3 4
4 5
Options :

87827099657. 1
87827099658. 2
87827099659. 3
87827099660. 4

Question Id : 87827025245 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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2016 | 2017 | 2018 | 2019 | 2020 | 2021 | 2022

3000 | 3160 | 5220 | 3272 | 3300 | 3320 | 3400
2500 | 2568 | 2640 | 2670 | 2792 | 2800 | 2900
2960 | 3000 | 3090 | 3100 | 3192 | 3200 | 3268
3448 | 3500 | 3600 | 3640 | 3604 | 3760 | 3792
2040 | 2100 | 2200 | 2250 | 2320 | 2550 | 2380
2072 | 2580 | 2460 | 2480 | 2530 | 2560 | 2588
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Sub questions

Question Number : 1 Question Id : 87827025246 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

S T ¥, 2016 H R s 1 et e 2018  F41 e ot i ) o el W (%) 2
1) 81

) 94
) 84
§) 74

2
3
Options :

87827099641. 1
87827099642. 2

87827099643. 3

87827099644. 4

Question Number : 2 Question Id : 87827025247 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

TR B H 9 guf | fafdd el =t Fe1 den oo 22

(1) 17870

(2) 18780
(3) 17780
(4) 18870
Options :

87827099645. 1
87827099646. 2
87827099647. 3

87827099648. 4

Question Number : 3 Question Id : 87827025248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR D ¥ 2018  fAftq el i wen & a au A qorn A fre wawd 9fg g R 7
(1) 385 %

(2) 285 %
(3) 485 %
(4) 4%
Options:
87827099649. 1
87827099650. 2
87827099651. 3
87827099652. 4

Question Number : 4 Question Id : 87827025249 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

TRE 3 F % 5o A 5 e 2021 § il sl e 9 2017 g sl a4t e o i
e &7
1) 630
Q) 80
) 40
(

)
)
§ 410

He==

Options :

87827099653. 1
87827099654. 2
87827099655. 3
87827099656. 4

Question Number : 5 Question Id : 87827025250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827099657. 1
87827099658. 2
87827099659. 3
87827099660. 4

Sub-Section Number : 2
Sub-Section Id : 8782701102

Question Shuffling Allowed : Yes



Is Section Default? : null

Question Number : 6 Question Id : 87827025251 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which collaborative ICT tool allows user to create digital bulletin boards to share and gather
information ?

(1) X-mind
(2) Padlet

(3) Book creator
(4) Plotagon
Options :
87827099661. 1
87827099662. 2
87827099663. 3

87827099664. 4

Question Number : 6 Question Id : 87827025251 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
87827099661. 1



87827099662. 2
87827099663. 3

87827099664. 4

Question Number : 7 Question Id : 87827025252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) : - In Round-Robin cooperative learning strategy, students work together to achieve
a common goal or complete a task,

Statement (1) : In group investigation cooperative learning strategy, students take turns sharing
their ideas, thoughts or solutions within their group.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

2
(3) Statement Iis correct but Statement II is incorrect
4

Both Statement [ and Statement II are incorrect

Statement I 1s mcorrect but Statement I1 is correct

Options :

87827099665. 1
87827099666. 2
87827099667. 3
87827099668. 4

Question Number : 7 Question Id : 87827025252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099665. 1
87827099666. 2
87827099667. 3
87827099668. 4

Question Number : 8 Question Id : 87827025253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Swayam Prabha channel (7 - Kautilya is related to which of the following subjects ?
A)  Economics

B) Library Science

D) Finance

E) Mathematics

Choose the correct answer from the options given below :
(1) (B), (D)and (E) Only

(2) (C)and (E) Only

(3) (A), (C) and (D) Only

) (8) () and (D) Only

Options:

(
(
(C) Commerce
(
(

87827099669. 1
87827099670. 2
87827099671. 3

87827099672. 4

Question Number : 8 Question Id : 87827025253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099669. 1

87827099670. 2

87827099671. 3
87827099672. 4

Question Number : 9 Question Id : 87827025254 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

[n which strategy of cooperative learning, students are separated into an inner and outer circle
(In the inner circle, students have a discussion and students in the outer circle Listen to the
discussion) ?

(1) Snow ball

(2) Fishbowl

(3) Jigsaw

(4)  Think-pair-share

Options :



87827099673. 1
87827099674. 2
87827099675. 3

87827099676. 4

Question Number : 9 Question Id : 87827025254 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099673. 1
87827099674. 2
87827099675. 3

87827099676. 4

Question Number : 10 Question Id : 87827025255 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the examples of Information Development Model ?
A)  Self Awareness Model

B) Gagne's Information Model

(
(
(C) Jerome Bruner's Model
(D) Schuman’'s Model

(E)  Group Investigation Model

Choose the correct answer from the options given below :
(1) (A) (D) and (E) Only

(2) (B)and (D) Only

(3)  (B), () and (D) Only

(4) (A4) (€ and () Only

Options:

87827099677. 1

87827099678 2

87827099679. 3

87827099680. 4

Question Number : 10 Question Id : 87827025255 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827099677. 1
87827099678. 2
87827099679. 3

87827099680. 4

Question Number : 11 Question Id : 87827025256 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : The process of deduction involves drawing generalizable inferences out of
observations.

Statement (II) : Positivism advocates the application of the methods of the natural sciences to the
study of social reality.

[n the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2

Y
(3) Statement I s correct but Statement II is incorrect
4

Both Statement [ and Statement II are mcorrect

Statement I is incorrect but Statement II is correct
Options:

87827099681. 1

87827099682. 2

87827099683. 3

87827099684. 4

Question Number : 11 Question Id : 87827025256 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099681. 1
87827099682. 2
87827099683. 3

87827099684. 4

Question Number : 12 Question Id : 87827025257 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the threats to the internal validity of an investigation :
(A) History

(B) Instrumentation

(C) Maturation

Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (B) and (C) Only
(3) (A)and (C) Only
(4) (A), (B)and (C)
Options:

87827099685. 1
87827099686. 2
87827099687. 3

87827099688. 4

Question Number : 12 Question Id : 87827025257 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827099685. 1
87827099686. 2
87827099687. 3
87827099688. 4

Question Number : 13 Question Id : 87827025258 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) : Pearson's coefficient of correlation r' is a very useful measure of the strength and
direction of the relationship between two nominal variables.

Statement (I1) : Pearson’s coefficient of correlation ‘1’ always lies between 0 and 1.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement I1 is incorrect
[

4)  Statement I s incorrect but Statement I s correct



Options :

87827099689. 1
87827099690. 2
87827099691. 3

87827099692. 4

Question Number : 13 Question Id : 87827025258 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099689. 1

87827099690. 2

87827099691. 3

87827099692. 4

Question Number : 14 Question Id : 87827025259 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following refers toa method of sampling in which a core group of participants who
are initially sampled for a research study recruit or recommend other potential participants ?

(1) Simple random sampling
(2) Snowball sampling

(3) Quota sampling

(4) Stratified random sampling
Options :
87827099693. 1
87827099694. 2
87827099695. 3

87827099696. 4

Question Number : 14 Question Id : 87827025259 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

T3 0 9 ST 1 3 e ) i s v ¢ P Foret S s o frw, o & A e
T ST 1 e 45 7% 678 AT 1 761 € el ST el 0t ¢

Options :

87827099693. 1
87827099694. 2
87827099695. 3
87827099696. 4

Question Number : 15 Question Id : 87827025260 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) :  According to UGC regulations 2018 on Prevention of Plagiarism, a student is
tequired to give anundertaking while submitting a thesis, stating that the document
is his/her original work which is free from any plagiarism.

Statement (1) : According to UGC Regulations 2018 on Prevention of Plagiarism, the research
supervisor is not required to certify that the work done by the researcher under
himy/her is plagiarism free.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are correct

2

2
(3) Statement I s correct but Statement II is incorrect
4

Both Statement [ and Statement II are incorrect

Statement I is incorrect but Statement II is correct

Options :

87827099697. 1
87827099698. 2
87827099699. 3
87827099700. 4

Question Number : 15 Question Id : 87827025260 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827099697. 1
87827099698. 2
87827099699. 3

87827099700. 4

Question Number : 16 Question Id : 87827025261 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In conversations, relevancy maxim means rnaking :

(1) Metaphoric remarks

(2) Allusions

(3) Pertinent comments

(4) Rudimentary comments
Options :

87827099701.1

87827099702. 2



87827099703. 3

87827099704. 4

Question Number : 16 Question Id : 87827025261 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
87827099701. 1
87827099702. 2

87827099703. 3

87827099704. 4

Question Number : 17 Question Id : 87827025262 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Failure to understand the cultural environment can lead to :
(1) Information richness
2

(2)  Exhibitionism
(3) High-brow communication
(4)

4 Miscommunication
Options :
87827099705. 1

87827099706. 2



87827099707. 3

87827099708. 4

Question Number : 17 Question Id : 87827025262 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099705. 1
87827099706. 2
87827099707. 3

87827099708. 4

Question Number : 18 Question Id : 87827025263 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The Buddhist mode of inter-personal communication emphasises :
A) Unfettered use of language

(

(B) Unintelligible moral frames

(C) Symmetrical relations

(D) Consensus through interaction

(E) Verifiability of communication

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only
(3) (O, (D) and (E) Onl

(4) (A), (B) and (E) Dnly,r
Options:

87827099709. 1
87827099710. 2
87827099711. 3

87827099712. 4

Question Number : 18 Question Id : 87827025263 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099709. 1
87827099710. 2
87827099711. 3

87827099712. 4

Question Number : 19 Question Id : 87827025264 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (1) : Paralinguistic features express emotions and communicate personality traits.

Statement (1) : The subtle use of vocal inflections can provide special significance to verbal
Messages.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 15 correct but Statement II is incorrect
(

4)  Statement I s incorrect but Statement I s correct

Options:

87827099713. 1
87827099714. 2
87827099715. 3
87827099716. 4

Question Number : 19 Question Id : 87827025264 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(2) IR Ko 1 G Terd &

(3) FUTIHEI 2, i o 17T &

(4) TR 2, W Fo 11961 ¢

Options :



87827099713.1
87827099714. 2
87827099715. 3

87827099716. 4

Question Number : 20 Question Id : 87827025265 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
Match List - T with List - II.
List - I List - II
(Type of meta communications) ~ (Description/Example)

(A) Explicit () Anaggressive gesture modified with a smile

(B) Implicit () Comments on others communication behaviour
(C) Verbal () Sarcastic remarks

(D) Non-verbal (IV) Comments about non-verbal behaviour

Choose the correct answer from the options given below :

(1) (AH), (BHID, (CH{I), (DHIV)

(2) (AL, (B-{IID), (CHIV), (D)D)
(3) (AR, (B)-1V), (G0, (DKL)
(&) (AFV), (B}, (), (D))
Options :

87827099717.1
87827099718. 2
87827099719. 3

87827099720. 4

Question Number : 20 Question Id : 87827025265 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Telt-1 o WY Gell-11 &1 foer i .

Toit-1 -1
(fy-wywor o bW ) (0T )

(A) TR () e & T adell T Uk S S
(B) dfifed () 571 T o FYo 7R R fewfir

(©) ?nfﬁaa (I11) S Sferat

(D) TR-mfee (V) TR-ufeceh e o ai H feofral

19 feu T forehedl & § WE I A1 T HIC

(1) (A}, (B)-(I), (CHII, (D}IV)

(2)  (A)ID), (B)-(ImI), (C)-(IV), (D)-(T

(3)  (A)-(IID), (B)-(IV), (O)-(T), (D)-(I)

(4)  (A)(IV), (B)-(D), (O, (D)-(m)

Options :

87827099717. 1
87827099718. 2
87827099719. 3
87827099720. 4

Question Number : 21 Question Id : 87827025266 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A milkman buys 20 litres of milk from a dairy at the cost of Rs. 50 per litre, He also purchases some
mineral water at the rate of Rs 20 per litre and adds it to the milk. He then sells the adulterated

milk at the rate of Rs 60 per litre and makes a profit of Rs 400. What is the amount of water he
added to the milk ?

(1) 10litre
() 8litre
(3) 5 litre
(4) 4 litre



Options :

87827099721. 1
87827099722. 2
87827099723.3

87827099724. 4

Question Number : 21 Question Id : 87827025266 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T e <A % 50 YT el o e § 20 it g e 2| 9 €20 W et &l < ¥ o e
i ¥ e & o g8 gt o o & €1 Ao o 91 %60 W i < 9 o R 2400 T
St e | S 3 ot e W o e o)

10 et

Options:

87827099721. 1
87827099722. 2
87827099723.3

87827099724. 4

Question Number : 22 Question Id : 87827025267 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of letters which will complete the following letter series.
aabcd - - - bedbe - - - dedab - - -

(1) abaabcedd
(2) abcabacdd
(3) abaabdcdd
(4) abcadbbed
Options:

87827099725. 1
87827099726. 2
87827099727. 3

87827099728. 4

Question Number : 22 Question Id : 87827025267 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
firet 1em e &1 qof e o foTu S1eRi & & STHY 1 A e

aabed - - - bedbe - - - dedab - - -
(1) abaabcedd

(2) abcabacdd
(3) abaabdcdd
(4) abcadbbed
Options :
87827099725. 1
87827099726. 2
87827099727. 3

87827099728. 4

Question Number : 23 Question Id : 87827025268 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Total monthly salary of a couple (husband and wife) is ¥ 2.0 lakh. Their salaries are in the ratio of
5:3. It husband and wife spend 40 % and 20 % of their salaries, respectively, what is the ratio of
their savings ?

() 3:2

(2] i
(3) 5:4
( 1

2 1 O

4
Options :

878270997209. 1
87827099730. 2
87827099731. 3

87827099732. 4

Question Number : 23 Question Id : 87827025268 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T 70 <01 (90 o ) 8 ot TR 070 2 2.0 7 81 7 o 4 W 5:3 81 e ofg & ol
S-S0 7 1 O 40 % 920 % 5P R 8 ) IR 9 4 9 N €7
(1)

2
3
4

3.
358
4

5T B R |

)
)
)

e B & 5 |

Options :

87827099729. 1
87827099730. 2
87827099731.3

87827099732. 4

Question Number : 24 Question Id : 87827025269 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a certain coding scheme :

‘Family values are important’ is written as “pa, ya, si, sa’
"Values are generally contagious’ is written as “ya, da, ja, sa’
‘Some diseases are mntagious’ is written as ‘ka, da, sa, ro’
What are the codes for ‘Contagious’ and “Values' ?

(1) da, sa

(2) da, si
(3) ka, ya
(4) da, ya
Options :

87827099733. 1
87827099734. 2
87827099735. 3

87827099736. 4

Question Number : 24 Question Id : 87827025269 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T e @hiH 1,

“iftenfier ge mecyt € w1, W % w9 for 9w g
"I WG |G & 1, 1 S, 91 ok w9 H foran S e,
‘o T wighies & 1, @, 9@, ' % w9 foran g,
‘giafie’ 9 ‘gea’ % fau aF | Fe 77

(1) @&
(2) @, i
(3) LA
(4) T @
Options :

87827099733. 1
87827099734. 2
87827099735. 3

87827099736. 4

Question Number : 25 Question Id : 87827025270 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the next term in the fu::llc:-wing number series ?
o Tl 0. B P e

(1) 176
(2) 155
(3) 142
(4) 186

Options :

87827099737. 1
87827099738. 2
87827099739. 3
87827099740. 4



Question Number : 25 Question Id : 87827025270 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

7 o *jEen § o1 ug R W T ?
3,14, 39, 84, ?, - -

(1) 176

(2) 155

(3) 142

(4) 186
Options :

87827099737. 1
87827099738. 2
87827099739. 3

87827099740. 4

Question Number : 26 Question Id : 87827025271 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is arranged in order of increasing denotation ?
(1) Cow, bovine, mammal, vertebrate, animal
(2) Mammal, Vertebrate, bovine, animal, cow
(3) Vertebrate, animal, mammal, bovine, cow
(4)

4)  Animal, Vertebrate, mammal, bovine, cow

Options:

87827099741. 1
87827099742. 2
87827099743.3

87827099744. 4



Question Number : 26 Question Id : 87827025271 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefefad § 9 #19 9 SE (Ted gu) a%ad & TRy § oraferd & 7
(1) T, TSI, SO, Feh, 79
(2) EITRH, HERT, ST, T, T
(3)  RITERI, I, YR, ST, T
(4) T, RO, WY, TSI, T
Options :
87827099741. 1
87827099742. 2

87827099743. 3

87827099744. 4

Question Number : 27 Question Id : 87827025272 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement () :  Truth and falsehood are attributes of individual propositions.
Statement (I1) : Validity can be attributed to any single proposition by itself.

I the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2
3
(

Both Statement [ and Statement II are incorrect

4

)
) Statement I is correct but Statement II i incorrect
) Statement I is incorrect but Statement I is correct

Options:



87827099745. 1
87827099746. 2
87827099747. 3

87827099748. 4

Question Number : 27 Question Id : 87827025272 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A ¢ oA feu U g

T (1) : T U6 7 e Yiewtad & €

oM (1) : 3w B @ el ft ook ot o o 2 e €

IR Y o Sf1clh H, el T 70 foehedi o § Hore SR ST ol 9 I
(1) e 3R HoW 11 3H T &

(2) R 1R HOR 11 S Terd ¢

(3) HUTIHEI &, wifehd ho 11777 &

(4) YT &, Wi Ho 1 He &

Options :

87827099745. 1
87827099746. 2
87827099747. 3

87827099748. 4

Question Number : 28 Question Id : 87827025273 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which fallacy is committed in the following argument ?

“The universe must be spherical in form because all its constituent parts are spherical in form” ?
(1) Circular argument
(2) Red herring
(3) Slippery slope
¢

4) - Fallacy of composition

Options:

87827099749. 1
87827099750. 2
87827099751.3

87827099752. 4

Question Number : 28 Question Id : 87827025273 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Frettan 7 % B 1 - T ¢ - e H e TR & <10 i 3066 94 e &
R e

Options :

87827099749. 1
87827099750. 2
87827099751.3
87827099752. 4

Question Number : 29 Question Id : 87827025274 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : The statement - “Pradeep’s mind is a cave : deep, dark and full of bats” is an
analogy which is only descriptive in nature.

Statement (II) : The statement - “Pradeep’s mind is a cave ; deep, dark and full of bats” is an
analogy which confains an argument,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

2
(3) Statement Iis correct but Statement II is incorrect
4

Both Statement [ and Statement II are incorrect

Statement I is incorrect but Statement II is correct

Options :

87827099753. 1
87827099754. 2
87827099755. 3
87827099756. 4

Question Number : 29 Question Id : 87827025274 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e ) F foU T g

H () T, T, SR 0 T QR T ¢ 9% R TGV €
Wﬁﬂ:ﬁﬂ@ﬂfﬂ%ﬁl

O (11): "W 1 T, TR, SHE 90 TS N o 7 T € 1" 7 R WewAr & for
e fiefem

TR % el H, 77 0 70 Foereet o 9 T a1 90 1 9

(1) FRIERFRTH T2

(2) FORER B G T €

() HRIT & o TR0 ¢

(&) FERITR &, o R &

Options :

87827099753. 1
87827099754. 2
87827099755. 3

87827099756. 4

Question Number : 30 Question Id : 87827025275 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (1) : Nyaya syllogism has three propositions
Statement (I1) : Aristotelian syllogism has five propositions

I the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

(2) Both Statement I and Statement II are incorrect
(3) Statement 1is correct but Statement II is incorrect
g

4)  Statement I s incorrect but Statement II is correct



Options :

87827099757. 1
87827099758. 2
87827099759. 3
87827099760. 4

Question Number : 30 Question Id : 87827025275 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A g F TR

®UF (1) : AHEH 2§ A vt g €
oM (1) : SIS e H vy 2 €|
IR F4 % e H, Al 500 foehedi § | Ward e I A T HIC
(1) eI S et 11 3 T &

(2) o1 SR B 11 G Terd ¢

(3) YRR 2, elfer B 11 7erd ¢

(4) IR &, i Fo I H &
Options :

87827099757. 1

87827099758. 2

87827099759. 3
87827099760. 4

Question Number : 31 Question Id : 87827025276 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is an online store house of all academic awards like certificates, diplomas,
degrees, marksheets etc. ?

(1) SWAYAM

(2) National Digital Library
(

(

)
3) National Academic Library
)

4)  National Academic Depository

Options:

87827099761. 1
87827099762. 2
87827099763. 3

87827099764. 4

Question Number : 31 Question Id : 87827025276 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Foes 9 8 oo o, fevcon, T, e, o 0 e e, el 1 T e e
Tt

(1) (T o] U )

() TR s YR

() T SR

(4) T T FRATTT

Options :

87827099761. 1
87827099762. 2
87827099763. 3
87827099764. 4

Question Number : 32 Question Id : 87827025277 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
[dentify the correct sequence of the missing nits of data A-D that can be used to represent the size
of a file, as it changes in size. The units of data increase in size from smallest to largest as given
below.

bit

tera Byte (TB)
(A) byte
(B) gigabyte (GB)
(C) megabyte (MB)
(D) nibble
Choose the correct answer from the options given below :
(1) (O (A) (€ 6)

Q) (4., ), ()
(3) (D) (4) ), (C)
(4 (4).0) (€, B
Options :

87827099765. 1
87827099766. 2
87827099767. 3
87827099768. 4

Question Number : 32 Question Id : 87827025277 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



78 9 921 A-D %1 T A % e A o T i Fo forl et o e e
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) B)
3 (D) () (B) (0
)

Q

VE

|
(0D
) (4) B
) (40,00
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2
()
(4
Options:

87827099765. 1
87827099766. 2
87827099767. 3

87827099768. 4

Question Number : 33 Question Id : 87827025278 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : Wiki is usually represented in reverse chronological order, whereas blog has a
structure determined by content and users.

Statement (I1) : Blog is usually personal/someone’s opinion, whereas a wiki is usually objective.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 15 correct but Statement II is incorrect
(

4)  Statement 115 incorrect but Statement I1 is correct

Options:

87827099769. 1
87827099770. 2
87827099771.3
87827099772. 4

Question Number : 33 Question Id : 87827025278 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el Q) A feu U §

H(1): 8l ) AT WOE FAEY 4 G W § S s @ g e §
eirRai g freffd &1 e 21

B (1) : ] ST AT ot 2o o 4 141 2, e Tl e e () BT
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T % el H, 47 0 0 et o e el 9 o 7

Options :

87827099769. 1
87827099770. 2
87827099771.3

87827099772. 4

Question Number : 34 Question Id : 87827025279 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements A-E about firewalls in computer networks are true ?
) Firewalls are only available as hardware devices and only examine traffic entering a network,

B) Firewalls allow a user to set rules for network traffic.

D) Firewalls backup all data that is transmitted around a network.

(A

(

(C) TFirewalls will automatically stop all malicious trafic.

(

(E) Firewalls can be used to block access to certain websites.

Choose the correct answer from the options given below :
1) @) O ()Only

(2 (B)and (£} Onl

() (@) 0)and [ )ODIY
(4) (A)and (C) Only
Options:
87827099773. 1
87827099774. 2
87827099775. 3

87827099776. 4

Question Number : 34 Question Id : 87827025279 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



O 2 W T % e 6 A o AR H 8 -3 W

(A) PR el G 47 3 Y 3 € SR 3 et e Yo o el T 1
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C) et R forget (i) e 1 4 3 |

D) R fo A2 TR YU G 1 1 o e ¢

E) v oaeredl s o i A & forn wes o e e e 2

A e T foedl 0 R S o T Wi

(1) (4) (C) 3 (0

() B) 4 (5

() 4 (B), () 4 ()

() ¥ (4) 9 (Q

Options:

(
(
(
(

87827099773. 1
87827099774. 2
87827099775. 3

87827099776. 4

Question Number : 35 Question Id : 87827025280 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
List -1 List- 11
(Automatic data capture method)  (Description)

(A) OCR ()  System that reads pencil or pen marks on a piece of
paper in pre-determined positions

(B) OMR () System that reads characters printed in a special ink,
for example, the characters written at the bottom of
Bank cheque

(C) RFD (M) Reading data directly from hard copy and
converting into computer-readable form

(D) MICR (IV) Use of minute-electronic devices (containing
mictochip and antenna) that can read from distances
upto few minutes

Choose the correct answer from the options given below :

(1) (AHD, (3K, (-, (M)

(@) (A, BHI), (CH), D)

3) (AW, (B4, (CHIV), DK

[4) (AHV), (M, CHD, DK

Options :

87827099777. 1
87827099778. 2
87827099779. 3

87827099780. 4

Question Number : 35 Question Id : 87827025280 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



oL & 0 el 1 et i

Tl I
(Tter g e fafy) (o)

(A) ¥ W () % YOl e Tt 0 O e et o et e
o & o) % Ve ¢

B IR (1) o YoMl o O ferm @ (%) W e a0 9w €
TR T oF 7 o o o o o

) TR ¢ (1) ¥ 7 o 2T 93 @ et YA Y
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A o T foked H § W S o o @i

(1) (A-{D), (BK{I), (C-{I, (DHIV)

(2) (AHI), (B-IV), (CHI, (DH()

(3) (KT, (B}, (CHIV), (DHT)

(4 (AHIV), (BM{ID, (C)(D) (DM{I)

Options:

87827099777. 1
87827099778. 2
87827099779. 3
87827099780. 4

Question Number : 36 Question Id : 87827025281 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (1) : The absence of fluoride in drinking water causes tooth decay.

Statement (I1) : Absence of fluoride in drinking water causes mottling of teeth also known as
dental fluorosis.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 15 correct but Statement II is incorrect
(

4)  Statement I s incorrect but Statement I s correct

Options:

87827099781. 1
87827099782. 2
87827099783. 3

87827099784. 4

Question Number : 36 Question Id : 87827025281 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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() TR HR I 3R T €

() FRIT ¢, o FoR 1T ¢

({4) FURITEH &, oot R ¢



Options :

87827099781. 1
87827099782. 2
87827099783. 3

87827099784. 4

Question Number : 37 Question Id : 87827025282 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) :  Under Montreal protocol developed and developing nations have differentiated
responsibilities,

Statement (1) : Under Kigali amendment of Montreal protocol, ChloroFhuoroCarbons (CFCs) and
HydroChloroFluoroCarbons (HCFCs) were to be phased out.

[n the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement [ and Statement II are correct

2
3
(

Both Statement I and Statement II are incorrect

4

)
) Statement 1 is correct but Statement II is incorrect
) Statement I is incorrect but Statement I is correct

Options:

87827099785. 1
87827099786. 2
87827099787.3

87827099788. 4

Question Number : 37 Question Id : 87827025282 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827099785. 1
87827099786. 2
87827099787. 3

87827099788. 4

Question Number : 38 Question Id : 87827025283 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) : Naturally occurring Volatile Organic Compounds (VOCs) generally oxidize to
form Carbonmonoxide (CO) and Carbondioxide (CO,)

Statement (I1) : Anthropogenically emitted VOCs play an important role in the formation of smog

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement I1 is incorrect
[

4)  Statement I s incorrect but Statement I s correct



Options :

87827099789. 1
87827099790. 2
87827099791. 3

87827099792. 4

Question Number : 38 Question Id : 87827025283 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099789. 1

87827099790. 2

87827099791. 3

87827099792. 4

Question Number : 39 Question Id : 87827025284 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which of the following gases has the maximum contribution to Global Warming ?
(1)  Chlorofluorocarbons (CECs)

(2) Methane (CH,)

(3) Sulfur Hexa fluoride (SF)

(4)  Carbon dioxide (CO,)

Options :

87827099793. 1

87827099794. 2

87827099795. 3

87827099796. 4

Question Number : 39 Question Id : 87827025284 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
frefafed 9 9 forg 19 =1 AR afveas v | Faifues € 2
(1) FARREEA (9 T )
(2) e (CH,)
(3) HOHL T FANEE (SF)
(4) FHEA SEAFES (CO,)
Options :
87827099793. 1
87827099794. 2

87827099795. 3

87827099796. 4

Question Number : 40 Question Id : 87827025285 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
Which of the following are true about Persistent Organic Pollutants (POPs) ?
A) They are extremely widespread and occur from tropics to Arctic.

B) They often accumulate in food webs and reach toxic concentrations.

D) They are widely used as flame retardants and in deodrants.

(

(

(C) Volatile Organjc Compounds (VOCs) are examples of POPs,
(

E

—

Some chemicals used in making non-stick, waterproof and stain-resistant products are
categorized ag POPs,

Choose the correct answer from the options given below :
(1) (A)(B) (C)and (D) OIﬂY

(2) (), (€), (D) and (E) Onl

(3) (&), (B), (D) end (£ )Onlv
(4 (4), (C)and (E) Onl
Options :

87827099797. 1
87827099798. 2
87827099799. 3

87827099800. 4

Question Number : 40 Question Id : 87827025285 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099797. 1
87827099798. 2
87827099799. 3

87827099800. 4

Question Number : 41 Question Id : 87827025286 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Hindu College in Banares set up by Annie Besant before Independence proposed to impart
(1) Physical education

(2) Religious and moral education

(3) Western education

(4) Medical education

Options :

87827099801. 1



87827099802. 2
87827099803. 3

87827099804. 4

Question Number : 41 Question Id : 87827025286 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099801. 1
87827099802. 2
87827099803. 3
87827099804. 4

Question Number : 42 Question Id : 87827025287 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following Universities was the largest in the initial years of Lord Curzon's regime ?
(1) Calcutta

(2) Madras
(3) Bombay
(4)  Punjab

Options:

87827099805. 1



87827099806. 2
87827099807. 3

87827099808. 4

Question Number : 42 Question Id : 87827025287 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
87827099805. 1
87827099806. 2

87827099807. 3
87827099808. 4

Question Number : 43 Question Id : 87827025288 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following were the recommendations of the first educational conference held at
Shimla in 1901 ?

A)  Appointment of only Indians as Vice-Chancellors of Indian Universities
B) Importance to teaching and research in Sanskrit

(
(
(C) A thorough reform of Indian Universities
(D) Appointment of a Director-General of Indian education
(E) Co-ordination of rules for examinations

Choose the correct answer from the options given below :

(1) (A) (B and (C)Only

2) () (C)and (D) Only

(3) (C), (D) and (E) Only

4 (4) () and 5 Ol

Options :

878270998009. 1
87827099810. 2
87827099811.3

87827099812. 4

Question Number : 43 Question Id : 87827025288 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(2) A (B), (C) ¥ (D)
(3) A (), (D) ¥ (B)
(4) A (A), (B) 4 (B)
Options :

87827099809. 1
87827099810. 2

87827099811. 3

87827099812. 4

Question Number : 44 Question Id : 87827025289 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the administrative reforms in universities suggested by the National
Knowledge Commission ?

(A) Appointment of vice-chancellors based on their academic and administrative credentials
(B) De-politicisation of appointments

(C) Centralised control of universities

(D) Restrictions on academic freedom

(E) Creation of a good research environment

Choose the correct answer from the options given below :

(1) (4) (3)and (O Only

(2) (3 (C)and D) Only

(3) (C),(D)and E )Onlv

[4) (4) ) and (5 Ol

Options :

87827099813. 1
87827099814. 2
87827099815. 3

87827099816. 4

Question Number : 44 Question Id : 87827025289 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827099813. 1
87827099814. 2
87827099815. 3
87827099816. 4

Question Number : 45 Question Id : 87827025290 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (1) : The monastery of Vikramasila, possessed a University with six colleges.

Statement (1) : Vikramasila was a well-known centre of Tantric Buddhism and attracted students
from other countries,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 15 correct but Statement II is incorrect
(

4)  Statement I s incorrect but Statement I s correct

Options:

87827099817. 1
87827099818. 2
87827099819. 3

87827099820. 4

Question Number : 45 Question Id : 87827025290 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099817. 1
87827099818. 2
87827099819. 3
87827099820. 4

Sub-Section Number : 3
Sub-Section Id : 8782701103
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827025291 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the following passage and answer the questions that follow :

Bharat, the country of historical values and sentiments overflowing with cultures and religions,
changes with every mile, but is still known for preserving its rich cultural heritage. Moving towards
global tourism, the ministry of ports, shipping and waterways recently created an experience for people
that brought forth the historical, cultural and religious significance of our rivers, In January and February,
the global tourism and cruise sector was abuzz with the news of the world's longest river cruise MV
Ganga Vilas. The cruise covered nearly 32,000 K over 51 days, crossing 27 rivers systems across five
states and two countries, via the Ganga-Brahmaputra river system. Starting from the heart of Uttar
pradesh in Varanasi to Dibrugarh in Assam, it had several stops and visits to nearly 50 locations,

The Act East Policy of Prime Minister Narendra Modi and the focus on developing the national
waterways made this historic voyage a reality. It was also a true demonstration of Atmanirbhar Blarat
(self reliant India) with a domestically manufactured vessel, a fully Indian crew, Indian decor, Indian
cuisine, Indian art and craft, and products being showcased. The vessel with a zero-discharge policy
also used the Indian Oil Corporation manufactured green fuel with the Dolphin Deterrent Device.

Sub questions

Question Number : 46 Question Id : 87827025292 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
The following are true about the country Bharat :
(A) It does not preserve its cultural heritage.
(B) It is overflowing with cultures.
(C) It does not have a variety of religions.
(D) It is a country of historical values.
Choose the correct answer from the options given below :
(1) (&), (B) and (C) Only
(2) (C) and (D) Only
(3) (A)and (C) Only
(4) (B) and (D) Only
Options :
87827099821. 1
87827099822. 2
87827099823. 3
87827099824. 4

Question Number : 47 Question Id : 87827025293 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is correct about M V Ganga Vilas ?
(1) Itis a tourist spot.

2)

(3) Itis world’s longest reiver cruise.

(4) It covered nearly 32,000 Km over 27 days

It started from Haridwar.

Options:
87827099825. 1
87827099826. 2

87827099827. 3



87827099828. 4

Question Number : 48 Question Id : 87827025294 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

M V Ganga Vilas is a true demonstration of self-reliant India because :
(A) The decor is done by Indian designers.

(B) It serves both Indian and Western cuisine.

(C) It showcases Indian arts and crafts.

(D) It is operated by an all Indian crew.

Choose the correct answer from the options given below :

(I) (A)and (B) Only
) (&), (), (C) and (D)
) (4), (C) and (D) Only
) |

(
3
(4)  (B), (C) and (D) Only

4
Options :

87827099829. 1
87827099830. 2
87827099831. 3

87827099832. 4

Question Number : 49 Question Id : 87827025295 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

“This historic voyage” refers to :

(1) Global tourism

(2) Act East Policy of Prime Minister Narendra Modi
(3) MV Ganga Vilas cruise

(4) Development of National waterways



Options :

87827099833. 1
87827099834. 2
87827099835. 3
87827099836. 4

Question Number : 50 Question Id : 87827025296 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) : MV Ganga Vilas is an environment friendly vessel.

Statement (IT) : MV Ganga Vilas is not indigenously manufactured vessel

I the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

(2) Both Statement I and Statement II are incorrect
(3) Statement I s correct but Statement I 15 incorrect
4

4)  Statement 1 is incorrect but Statement II is correct

Options :

87827099837. 1
87827099838. 2
87827099839. 3
87827099840. 4

Question Id : 87827025291 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827025292 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099821. 1
87827099822. 2
87827099823. 3

87827099824. 4

Question Number : 47 Question Id : 87827025293 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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(4) 8 27 feai | o 32,000 foR.Ht. 1 g 7+
Options :
87827099825. 1
87827099826. 2

87827099827. 3

87827099828. 4

Question Number : 48 Question Id : 87827025294 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(4) 9 (B), (C) 3 (D)

Options :

87827099829. 1

87827099830. 2

87827099831. 3
87827099832. 4

Question Number : 49 Question Id : 87827025295 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099833. 1

87827099834. 2



87827099835. 3

87827099836. 4

Question Number : 50 Question Id : 87827025296 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827099837. 1

87827099838. 2

87827099839. 3

87827099840. 4

Indian Culture

Section Id : 878270735
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 92



Number of Questions to be attempted : 92

Section Marks : 200

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 8782701104
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 51 Question Id : 87827025297 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Whose analysis is often called the technological theory of social change ?
(1) Gordon Childe

(2) James Hill

(3) Paul S. Martin

(4) W.T. Perry
Options :

87827099841. 1
87827099842. 2
87827099843. 3

87827099844. 4

Question Number : 51 Question Id : 87827025297 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
87827099841. 1
87827099842, 2
87827099843. 3

87827099844. 4

Question Number : 52 Question Id : 87827025298 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In which script Satavahanas inscriptions were composed ?

) Karoshthi
(2) Brahmi
(3) Nevari
(4) Sharada

Options :

87827099845. 1
87827099846. 2
87827099847. 3
87827099848. 4

Question Number : 52 Question Id : 87827025298 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) Tt
(2)
(3) R
(4) 9IRS
Options :

87827099845. 1
87827099846. 2
87827099847. 3

87827099848. 4

Question Number : 53 Question Id : 87827025299 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which mandala of Rigveda contains the famous Purushasukta hymn ?

(1) IX
(2) X
(3) I
(4) 1V
Options :

87827099849. 1
87827099850. 2
87827099851. 3
87827099852. 4

Question Number : 53 Question Id : 87827025299 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) IX
(2) X
(3) II
(4) IV

Options:

87827099849. 1
87827099850. 2
87827099851. 3
87827099852. 4

Question Number : 54 Question Id : 87827025300 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which out of the following means the process of ordering a series of artifacts in terms of relative
similarity, with the most unlike place farthest apart so that the degree of technomorphological
gradation can be taken to ascertain the relative age of a given object ?

(1) Pluial
2
3
4

) Seriation
) Econiche

) Band
Options :
87827099853. 1
87827099854. 2
87827099855. 3
87827099856. 4

Question Number : 54 Question Id : 87827025300 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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Options :

i

87827099853. 1
87827099854. 2
87827099855. 3

87827099856. 4

Question Number : 55 Question Id : 87827025301 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which out of the following term means a geographic area inhabited by people sharing a similar
culture ?

(1) Culture Area

(2) Cultural region
(3) Culture map
(4) Cultural space
Options :
87827099857. 1
87827099858. 2
87827099859. 3

87827099860. 4



Question Number : 55 Question Id : 87827025301 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Fefetflae 9 o e 71 e 3 s & 9 & el o s ) 0 9 ot i) f v

Options :

87827099857. 1
87827099858. 2
87827099859. 3

87827099860. 4

Question Number : 56 Question Id : 87827025302 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Bhaskaracharya's Lilavati deals with which of the following subject ?
(1) Literature

(2) Drama

(3) Aesthetics

(4) Mathematics
Options :

87827099861. 1
87827099862. 2
87827099863. 3

87827099864. 4



Question Number : 56 Question Id : 87827025302 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
WA i wraredt’ fefafad 9 | e faw 9 dafd ¢ 2
(1) 9w

(2) <

(3) HieHwE

(4) o
Options :

87827099861. 1
87827099862. 2
87827099863. 3
87827099864. 4

Question Number : 57 Question Id : 87827025303 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the ft}llowmg is not the alternative terms used for Zamindar ?
(1) Satarahi
Biswi

Options:

87827099865. 1
87827099866. 2
87827099867. 3
87827099868. 4



Question Number : 57 Question Id : 87827025303 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

freferfd 5 9 % 9 7 ashicdes &Y § SHiGR o foft 7ge Tl {1 < o 2

(1) Wl
@) fow
(3) o
(4) WR
Options :

87827099865. 1
87827099866. 2
87827099867. 3

87827099868. 4

Question Number : 58 Question Id : 87827025304 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following method of assessment deals with sharing of the ctop after it was cut and
stacked in heaps ?

(1) Khet Bata
(2) Lang Batai
3

(4

L
Batai

)
)
) Hast O Bud
Options:
87827099869. 1
87827099870. 2

87827099871. 3



87827099872. 4

Question Number : 58 Question Id : 87827025304 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T 9 e A 4 @R 6 R o e o ¢ 9 o TV 9 A (a¢%)
Taftw &7

efere

ot 9

1)

(2)

B
) WA
Options :
87827099869. 1
87827099870. 2
87827099871. 3

87827099872. 4

Question Number : 59 Question Id : 87827025305 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Name the place from where metal sculpture of Jaina tirthankar, Rishbhanatha, dated to 300 - 600
CE have been found from the hoard of other metal sculptures ?

(1) Sultanganj

() Chausa
(3) Munger
(4) Vallabhi
Options :

87827099873. 1



87827099874. 2
87827099875. 3

87827099876. 4

Question Number : 59 Question Id : 87827025305 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T TR 1 T A 9 97 o7 e % o A A 300- 600 %, F S AR v % e
Wgﬁ?

¢
2
3
(

ﬁj‘ﬁ«%“%

)
)
)
Y
Options :

87827099873. 1
87827099874. 2
87827099875. 3

87827099876. 4

Question Number : 60 Question Id : 87827025306 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Name the deities whose composite forms are Hari - Hara.
(1) Vishnu and Shiva

2) Vishnu and Naga

(
(3) Vishnu and Brahma
(4) Vishnu and Krishna

Options:



87827099877. 1
87827099878. 2
87827099879. 3

87827099880. 4

Question Number : 60 Question Id : 87827025306 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

3 caasll &1 M Faed e fafga (§9) ®1 -3 2 -
(1) faon 31 fora

(2) ooy ST Am

(3) ooy 3T sr=m

(4) oo oTR o

Options :

87827099877. 1

87827099878. 2

87827099879. 3

87827099880. 4

Question Number : 61 Question Id : 87827025307 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Shadvala implies to which form of land during Gupta period ?
(1) Fallow land
(2) Muddy land
(3) Grassy land
(4) Barren land

Options :



87827099881. 1
87827099882. 2
87827099883. 3

87827099884. 4

Question Number : 61 Question Id : 87827025307 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
e SRl o SHH Wgel YfH & fohd &9 ol Iqcafard 1 g ?
(1)

(2) diwA M

(3) EEEH
(4) TR (SR) yfH
Options :

87827099881. 1
87827099882. 2
87827099883. 3

87827099884. 4

Question Number : 62 Question Id : 87827025308 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Name the Harappan site which is divided into three parts ?
(1) Harappa

(2) Mohenjodaro
(3) Dholavira
(4) Amri

Options :



87827099885. 1
87827099886. 2
87827099887. 3

87827099888. 4

Question Number : 62 Question Id : 87827025308 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

3 FSUTE - TR 1 A Sy ford o wmi o faenfea form e @2

(1) @™
(2) HRIE!
(3) T
(4) e
Options :

87827099885. 1
87827099886. 2
87827099887. 3

87827099888. 4

Question Number : 63 Question Id : 87827025309 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is Bahar-i-Ajam ?
(1) Garden

(2) Canal

(3) Dictionary

(4) Painting

Options :



87827099889. 1
87827099890. 2
87827099891. 3

87827099892. 4

Question Number : 63 Question Id : 87827025309 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TEN-U-3T5H F1 & ?

(1) =

(2) T

(3) VUSRIV

(4) =3
Options :

87827099889. 1
87827099890. 2
87827099891. 3

87827099892. 4

Question Number : 64 Question Id : 87827025310 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In which Regnal year, Jahangir introduced du-aspah sih-aspah ?
(1) 5™ Regnal year

(2) 12t Regnal year

(3) 10 Regnal year

(4) 15 Regnal year

Options :



87827099893. 1
87827099894. 2
87827099895. 3

87827099896. 4

Question Number : 64 Question Id : 87827025310 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fefefd 5 9 fohe O3 o § SRR A g7 fog-37m 1 SRy foea 417

(1) 59 T4 ¥
(2) 1297 99
(3) 109 T3 T
(4) 19 a7
Options :

87827099893. 1
87827099894. 2
87827099895. 3

87827099896. 4

Question Number : 65 Question Id : 87827025311 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who among the following described the mansabdars as ‘Elite within Elite’ and Lal Purdahris ?
(1) Percival Spear

(2) Stephen Blake

(3) Douglas Streusand

(4) John F. Richards

Options :



87827099897. 1
87827099898. 2
87827099899. 3

87827099900. 4

Question Number : 65 Question Id : 87827025311 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Frft o 4 e vl 91 e e o T e 0 8 o e &7
T R

Options :

87827099897. 1
87827099898. 2
87827099899. 3

87827099900. 4

Question Number : 66 Question Id : 87827025312 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which among the following is the Persian translation of Mahabharata ?
(I) Razmnama

(2) Sirr-I-Akbar
(3) Ab-I-Zindagi
(4) Tuhfat-Al-Hind

Options :



87827099901. 1
87827099902. 2
87827099903. 3

87827099904. 4

Question Number : 66 Question Id : 87827025312 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR 1 B! STare Fefafad 3§ H |1 872

(1) HAMI

(2) fol-u-se

(3) oTE-T-fort

(4) TERIA fes
Options :

87827099901. 1
87827099902. 2
87827099903. 3

87827099904. 4

Question Number : 67 Question Id : 87827025313 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What does Mashrut in Mansabdari refer to ?
(1) Permanent Rank

(2) Conditional Rank

(3) Rank only reserved for royal prince

(4) Given to the women

Options :



87827099905. 1
87827099906. 2
87827099907. 3

87827099908. 4

Question Number : 67 Question Id : 87827025313 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

THGRI H HIEd fhad Hafyd €2

(1) i ug

(2) HIC g

(3) hadl UIMEl TSIHAR o AU sTRfEd ug
(4) Tl =l uew

Options :

87827099905. 1

87827099906. 2

87827099907. 3

87827099908. 4

Question Number : 68 Question Id : 87827025314 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
What was Dar-Us-Shafa ?

(1) School
(2) College
(3) Hospital
(4) Bank

Options :



87827099909. 1
87827099910. 2
87827099911. 3

87827099912. 4

Question Number : 68 Question Id : 87827025314 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TMEY ITHT =T o7 7

(1) ferme™ (FFe)

(2) wHelfaEed (Hiis)
(3) TafwrEreE (sifeea)
(4) H=

Options :

87827099909. 1
87827099910. 2
87827099911. 3

87827099912. 4

Question Number : 69 Question Id : 87827025315 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What was the purpose behind creating the department Diwan-i-Mustakharaj ?

(1) To collect Taxes

(2) To maintain law and order
(3) To distribute Inam

(4)  To control collectors

Options :



87827099913. 1
87827099914. 2
87827099915. 3

87827099916. 4

Question Number : 69 Question Id : 87827025315 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
"SraFA-u-HEErrS | favr ffdd s w1 Seded = a2
(1) =T 3HEST HLAT
(2) RFA-SHEEA T TGl
(3) gM fedfid e
(4) HURH T O

Options :

87827099913. 1
87827099914. 2
87827099915. 3

87827099916. 4

Question Number : 70 Question Id : 87827025316 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

What does the term Sondhar refer to ?

(1) Department of Medicine

(2) Special power given to Royal prince

(3) Law Officer
(4) Agricultural loan

Options :



87827099917. 1
87827099918. 2
87827099919. 3

87827099920. 4

Question Number : 70 Question Id : 87827025316 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

AR ug fefafed § 4 feay defya 22
(1) | fasm
(2) VI USIHHR ! Yed fafere vfer
(3) A sfuerl (fafy sAfeerr)
(4) F-FEM

Options :

87827099917. 1

87827099918. 2

87827099919. 3

87827099920. 4

Question Number : 71 Question Id : 87827025317 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Who among the following founded the city of Jaunpur ?
(1) Firuz Tughlaq

(2) Ghayasuddin Tughlaq

(3) Mohammed Bin Tughlaq

(4) Sultan Ahmad Shah-I

Options :



87827099921. 1
87827099922. 2
87827099923. 3

87827099924. 4

Question Number : 71 Question Id : 87827025317 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
SR ¥Rt T Frefafed § 9 fora e o ?
(1) TUS gerersh
(2) TEAEEH FTEH
(3) HrEFE fom g
(4) YedH 3EHE B -
Options :
87827099921. 1
87827099922. 2

87827099923. 3

87827099924. 4

Question Number : 72 Question Id : 87827025318 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Who among the following established a court to punish his Muslim opponents ?

(1) Akbar

(2) Aurangzeb

(3) Muhammad Bin Tughlaq
(4)  Alauddin Khilji

Options :



87827099925. 1
87827099926. 2
87827099927. 3

87827099928. 4

Question Number : 72 Question Id : 87827025318 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

et 4 e ) e o 3 e ) 3 e o vt i o 2

Options :

87827099925. 1
87827099926. 2
87827099927. 3

87827099928. 4

Question Number : 73 Question Id : 87827025319 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which department during Mughal Period was given the responsibility of building of Schools and
Colleges ?

(1) Shubrat-i-Am

2) Diwan-i-Arz

;

4) Nazim

(
§
(

)
) Diwan-i-Siyasat
)



Options :

87827099929. 1
87827099930. 2
87827099931. 3

87827099932. 4

Question Number : 73 Question Id : 87827025319 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T ST %6 o SR el T8 hiers) a1 Qe b fawm a1 foan man a2

Options:

87827099929. 1
87827099930. 2
87827099931. 3

87827099932. 4

Question Number : 74 Question Id : 87827025320 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who among the following invented the musical instrument Sitar ?
(1) Raja Man Singh

(2) Nusrat Shah

(3) Sultan Zain-Ul-Abidin

(4) Amir Khusrau



Options :

87827099933. 1
87827099934. 2
87827099935. 3

87827099936. 4

Question Number : 74 Question Id : 87827025320 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
it e fear’ 1 @S frefafed 5 9 fhem st ot ?
(1) T HF fo7

(2) T IE
(3) HEH SiTe T
(4) R gE

Options:

87827099933. 1
87827099934. 2
87827099935. 3

87827099936. 4

Question Number : 75 Question Id : 87827025321 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who among the following was given the responsibility of the market by Alauddin Khilji ?
(1) Sehna

) Suhna

) Karwanis
) Banjaras



Options :

87827099937. 1
87827099938. 2
87827099939. 3

87827099940. 4

Question Number : 75 Question Id : 87827025321 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

HeA3GEH TGersil g1 SR <1 Jaeqiia fefefad | § forg S = o1 2

(1) &
@
(3) R
(4) S
Options :

87827099937. 1
87827099938. 2
87827099939. 3

87827099940. 4

Question Number : 76 Question Id : 87827025322 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following Buddhist philosopher lived at Kucha in the fourth century CE ?
(1) Kumarajiva

(2) Kumaragupta
(3) Sung Yun
(4) Nagarjuna



Options :

87827099941. 1
87827099942, 2
87827099943. 3

87827099944. 4

Question Number : 76 Question Id : 87827025322 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafad 3 9 #F 1 sig St et et St 5 F= 5 T o ?

(1) FoRsiE

(2) FARTE
() FI
(4) IR
Options :
87827099941. 1
87827099942. 2

87827099943. 3

87827099944. 4

Question Number : 77 Question Id : 87827025323 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which ruler was known as Amitrochates to the Greeks ?
(1) Chandragupta

(2) Bhimbisara

(3) Amoghavarsha

(4) Bindusara



Options :

87827099945. 1
87827099946. 2
87827099947. 3

87827099948. 4

Question Number : 77 Question Id : 87827025323 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frfatad o § ford e 1 Ui @ Sy & 91 9 S € 2

(1) =T

(2) fefraEr

(3) ey

(4) TogER
Options:
87827099945. 1
87827099946. 2
87827099947. 3

87827099948. 4

Question Number : 78 Question Id : 87827025324 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following ruler infroduced a silver currency in Nashik area ?
(1) Kujula Kaphises

(2
(3
(4

) Simuka
) Kumaragupta
) Nahapana



Options :

87827099949. 1
87827099950. 2
87827099951. 3

87827099952. 4

Question Number : 78 Question Id : 87827025324 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
frefafad § ¥ forg e A TifSres &3 H 0 qg1 SRy i o°f ?
(1) I HHEF

(2) 9%
(3) FHHNTW
(4) &UH
Options:

87827099949. 1
87827099950. 2
87827099951. 3

87827099952. 4

Question Number : 79 Question Id : 87827025325 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Gupta Brahmi evolved into which of the following script during the late 6™ century CE ?
(1) Devanagari

) Siddhamatrika
) Grantha
) G

2
3
(4



Options :

87827099953. 1
87827099954, 2
87827099955. 3
87827099956. 4

Question Number : 79 Question Id : 87827025325 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR 631 W) 3. % S T e o Frerfefin o @ frg foft & v o fosfo g

Options:

87827099953. 1
87827099954. 2
87827099955. 3

87827099956. 4

Question Number : 80 Question Id : 87827025326 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which text revolves around the manoeuvres of Chanakya to win over a minister of the Nandas, to
Chandragupta’s side ?

(1) Kathasaritsagara
2
;
1

(2) Mudrarakshasa
(3) Devichandragupta
(4) Gaudavaha
Options:
87827099957. 1
87827099958. 2
87827099959. 3

87827099960. 4

Question Number : 80 Question Id : 87827025326 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

foert H 9 o 9 T 79 o A 6 75 % H T oo T o ort < o e ()
%y

1) IR

) am

=

E

o

(1)
2
()
[4)
Options :

87827099957. 1
87827099958. 2
87827099959. 3

87827099960. 4

Question Number : 81 Question Id : 87827025327 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Dhammapada are contained in which of the following Nikaya ?
(1) Digha

(2) Samyutta

(3) Anguttara

(4) Khuddaka
Options :

87827099961. 1
87827099962. 2
87827099963. 3
87827099964. 4

Question Number : 81 Question Id : 87827025327 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

yrue fefafea § 9 feg e § afde 2

(1) <
(2) HY
(3) SR
(4) TEh
Options :

87827099961. 1
87827099962. 2
87827099963. 3

87827099964. 4

Question Number : 82 Question Id : 87827025328 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following caves was carved out during the Mauryan period ?
(1) Bhaja cave

(2) Karle cave

(3) Lomash Rishi cave

(4) Udayagiri cave

Options :

87827099965. 1

87827099966. 2

87827099967. 3

87827099968. 4

Question Number : 82 Question Id : 87827025328 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafad | 9 form T 1 Ienivi d1 et & SR g o ?
(1) St

(2) W TH

(3) I =Y TH

(4) AR TH
Options :

87827099965. 1
87827099966. 2
87827099967. 3

87827099968. 4

Question Number : 83 Question Id : 87827025329 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Which of the following was the chief superintendent of mint according to Kautilya's Arthashastra ?
(1) Akaradhyaksha

() Lakshanadhyaksha

(3) Panyadhyaksha

(4) Swarnadhyaksha

Options :

87827099969. 1
87827099970. 2
87827099971.3
87827099972. 4

Question Number : 83 Question Id : 87827025329 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Rl % HUI & FER ThaT 1 ged e frefofed § 9 @6 912
) SRR
) e
) Ty

) o
Options :
87827099969. 1
87827099970. 2

87827099971. 3

87827099972. 4

Question Number : 84 Question Id : 87827025330 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Which of the following animal is not depicted on Ashokan Pillars ?
(1) Bull

(2) Elephant

(3) Horse

(4) Tiger
Options :

87827099973. 1
87827099974. 2
87827099975. 3
87827099976. 4

Question Number : 84 Question Id : 87827025330 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

iR el # frefafaa 8 9 @@ o uy fafa == 82

(1) 994

(2) @

(3) EE (37E)

(4) <™
Options :

87827099973. 1
87827099974. 2
87827099975. 3

87827099976. 4

Question Number : 85 Question Id : 87827025331 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a Vedic assembly ?
(1) Sabha

(2) Samiti

(3) Nigama

(4) Vidatha

Options :

87827099977. 1

87827099978. 2

87827099979. 3

87827099980. 4

Question Number : 85 Question Id : 87827025331 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

faeafafea 9 9 =@ 9t afes 9 =76 2 2
(1) 9
(2) HfHfd
(3) fm
(4) focg
Options :

87827099977.1
87827099978. 2
87827099979. 3

87827099980. 4

Question Number : 86 Question Id : 87827025332 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Name the ruler of Gupta dynasty who is referred as ‘Lichchhavi - douhitra’ in Allahabad Prashasti ?

(1) Chandragupta
2) Samudragupta

(2
(3) Kumargupta
(4) Ghatotkacha

Options :

87827099981. 1
87827099982. 2
87827099983. 3
87827099984. 4

Question Number : 86 Question Id : 87827025332 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T TN % 38 Y 1 T g ord) s i ' ferfa- e’ & 7w @ Sl e mn €7
() T

(2) HETH

(3) AR

()
Options :
87827099981. 1
87827099982. 2

87827099983. 3

87827099984. 4

Question Number : 87 Question Id : 87827025333 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following text is related to the Rigveda ?
(1) Gopatha Brahmana

(2) Kanva Shatapatha

(3) Aitareya Brahmana

(4) Jaiminiya Brahmana
Options :

87827099985. 1

87827099986. 2

87827099987. 3

87827099988. 4

Question Number : 87 Question Id : 87827025333 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefefed 5 |9 [ |1 gy e | Hefyd 272

(1) 719 SiTaTv]

(2) VS A9

(3) A R

(4) SIfHER SR
Options :

87827099985. 1
87827099986. 2
87827099987. 3

87827099988. 4

Question Number : 88 Question Id : 87827025334 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is included as source of Dharma in Manusmriti ?
(I) Bhavana

(2) Smriti

(3) Nyaya

(4) Anviksiki
Options :

87827099989. 1
87827099990. 2
87827099991. 3
87827099992. 4

Question Number : 88 Question Id : 87827025334 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
frefafad 9 9 wF o° & & % ®9 H 97 § wiie § 2
(1) 9«1

(2)

(3) 4

(4)  sArifarEnt
Options :

87827099989. 1
87827099990. 2
87827099991. 3

87827099992. 4

Question Number : 89 Question Id : 87827025335 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Which of the following tools are characteristics of Lower Paleolithic Age ?

(1) Chopper-Chopping tools and hand axes

2) Blades and Bladelets

(2)
(3) Celt and polished hand axe
(4)

4 Triangles and Crescents

Options :

87827099993. 1
87827099994. 2
87827099995. 3
87827099996. 4

Question Number : 89 Question Id : 87827025335 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafad § 9 &F 9 Syt Fergaumm I & i § 2
(1) TS/ - WEH U iR THFHeR

(2) =g 3R =AeeH
(3) TUFSR HR UIfcHT i g8 TFon
(4) TASTHR AR 314 FZRRR

Options :

87827099993. 1
87827099994. 2
87827099995. 3

8782709999%6. 4

Question Number : 90 Question Id : 87827025336 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Name the phase of human history when earth was taking shape and man was evolving biologically ?
(1) Pre-historic

) Proto-historic
) Historic

) Chalcolithic
Options :
87827099997. 1
87827099998. 2
87827099999. 3

878270100000. 4

Question Number : 90 Question Id : 87827025336 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A 31 o 39 P 1 T e T Qe SRR T o ) el e e o %9 8 e
wa)

1)y
) -V
3) Ui

4) T

Options :

(
(
(
(

87827099997. 1
87827099998. 2
87827099999. 3

878270100000. 4

Question Number : 91 Question Id : 87827025337 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following cities are associated with ancient Buddhist councils ?
(A) Vallabhi

(B) Vaishali

(C) Sarnath

(D) Pataliputra

Choose the correct answer from the options given below :
(1) (B)and (D) Only

(2) (A)and (D) Only
(3) (B)and (C) Only
(4 (C)and (D) Only
Options :

878270100001. 1
878270100002. 2
878270100003. 3

878270100004. 4

Question Number : 91 Question Id : 87827025337 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafed § § %M 9 98T (TR) TEH dig g § deg € 2
(A) e

(B) et

(C) TRAY

(D) WefAg

1 fou U fashedi § 9 Wel 3T F 99 HIW

(1) =4 (B) 3R (D)

hga (A) 3R (D)
Fad (B) 3R (O)
%99 (C) ¥R (D)

)
(2)
(3)
(4)

Options :

878270100001. 1
878270100002. 2
878270100003. 3

878270100004. 4

Question Number : 92 Question Id : 87827025338 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are Ajivika monks ?
(A) Parsva

(B) Vardhamana

(C) Purana Kassapa

(D) Mankhaliputta Gosala

Choose the correct answer from the options given below :
(1) (C)and (D) Only

(2) (A)and (B) Only

(3) (B)and (C) Only

(4) (A)and (D) Only
Options :
878270100005. 1
878270100006. 2
878270100007. 3

878270100008. 4

Question Number : 92 Question Id : 87827025338 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fr=fafad § 9 stsiifas fug @ 9 €72

(A) T
(B) aHHM
(C) T &Y

(D) H@faqd THe
== feu U fasedi § 9 Wl 3L 1 9594 Fif9Q
(1) ad (C) ¥R (D)

(2) <hEE (A) R (B)
(3) ad (B) TR (C)
(4) EE (A) 3R (D)
Options :

878270100005. 1
878270100006. 2
878270100007. 3

878270100008. 4

Question Number : 93 Question Id : 87827025339 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are Ayurveda Texts ?
A) Bhela Sambhita

(
(B) Tattva Kaumudi

(C) Kharanada Samhita

(D) Chintamani

(E) Madhava Nidona

Choose the correct answer from the options given below :

(1) (A), (B), (€) Only

(2) (&) (©), (E) Only
(3) (A) (B), (D) Only
(4)  (B), (D), (E) Only

Options:

878270100009. 1
878270100010. 2
878270100011. 3

878270100012. 4

Question Number : 93 Question Id : 87827025339 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



3gels U fefafed § 9 F | € 2

(A) 9 Ffe
(B) e A
(C) TR Hied
(D) Te=mfo
(E) Hma f1eM

(1) <ad (A), (B), (C)
(2) %9 (A), (), (E)
(3) ad (A), (B), (D)
(4) e (B), (D), (E)
Options :

878270100009. 1
878270100010. 2
878270100011. 3
878270100012. 4

Question Number : 94 Question Id : 87827025340 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are sthanas of Charaka Samitha ?
A) Vidya Sthana

(

(B) Dharma Sthana

(C) Kalpa Sthana

(D) Vimana Sthana

(E) Srishti Sthana

Choose the correct answer from the options given below :
(1) (A), (B) Only

B), (C) Only

Options:

878270100013. 1
878270100014. 2
878270100015. 3
878270100016. 4

Question Number : 94 Question Id : 87827025340 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



= Gigdl & WH fAefafeaa A 9 A 9§ 2

(A) Tommeem

(B) #H I
(C) <heq M1
(D) fadM w@mH
(E) 9re ¥
= feu o fasredi § 9 W& 39 1 =FIF HifAU
(1) e (A), (B)
(2) 9 (B), (C)
(3) ad (C), (D)
(4) e (D), (E)
Options :

878270100013. 1
878270100014. 2
878270100015. 3

878270100016. 4

Question Number : 95 Question Id : 87827025341 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are parts of Ashtanga Ayurveda ?
(A) Sarpa Vidya

(B) Bhuta Vidya

(C) Shalakya Tantra

(D) Kaumara Bhritya

(E) Rajavidya

Choose the correct answer from the options given below :
(1) (A), (B), (C) Only

Options:

878270100017. 1
878270100018. 2
878270100019. 3
878270100020. 4

Question Number : 95 Question Id : 87827025341 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



foretferfiad & & S T srple % o §72

(A) 94 fa=m

(B) o femm

(C) It oA

(D) MR Y

(E) U fae=n

= fou 7u fasweyi ° 9 HE 39 1 994 hifT ;
(1) e (A), (B), (O)
(2) e (B), (), (D)
(3) @ad (C), (D), (E)
(4) ad (A), (B), (E)
Options:

878270100017. 1
878270100018. 2
878270100019. 3
878270100020. 4

Question Number : 96 Question Id : 87827025342 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Name the two Vrishni heroes of Vaishnava Pantheon ?
(A) Vasudeva and Krishna

(B) Samkarshana and Pradyumna
(C) Indra and Shiva
(D) Yaksha and Hariti

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (B) and (C) Only
(3) (A)and (C) Only
(4) (C) and (D) Only
Options:

878270100021. 1
878270100022. 2
878270100023. 3

878270100024. 4

Question Number : 96 Question Id : 87827025342 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



IWE qael o Gl JIOU ATkl ok AH FdEd ?

(A) =gA SR F
(B) WIhHUT AR YEH
(C) 3% 3R fom
(D) 94 AR &lifd

= feu v fasredi § 9 W&t 39T &1 997 hifSU ;
(1) e (A) 3R (B)

(2) <EE (B) 3R (C)
(3) HAA (A) ¥R (O)
(4) ad (C) 3R (D)
Options :

878270100021. 1
878270100022. 2
878270100023. 3

878270100024. 4

Question Number : 97 Question Id : 87827025343 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the two Indian religious systems are deeply rooted in South East Asia ?
(A) Hinduism
(B) Buddhism
(C) Ajaivikas
(D) Jainism
Choose the correct answer from the options given below :
(1) (A)and (B) Only
(2) (B)and (C) Only
(3) (C) and (D) Only
(4) (A)and (D) Only
Options:
878270100025. 1
878270100026. 2
878270100027. 3
878270100028. 4

Question Number : 97 Question Id : 87827025343 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



<t 7 ofvren 8 e W9 8 e <) R e g Frefafen § 9 @R @
(4) feg
(B) oIt
(©) st
(D) ¥

Options :

878270100025. 1
878270100026. 2
878270100027. 3

878270100028. 4

Question Number : 98 Question Id : 87827025344 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following sites are Neolithic sites of Indian subcontinent ?
A) Mehargarh, Burzahom, Gufkral

(
(B) Kupgal, Piklihal, Budihal

(C) Naikund, Mahurjhari, Junapani

(D) Lothal, Banawali, Rakhigarhi

(E) Navdatoli, Bithur, Shalozan

Choose the correct answer from the options given below :
(1) (A)and (B) Only

(2) (B)and (C) Only
(3) (C) and (D) Only
(4) (A) and (D) Only
Options:

878270100029. 1
878270100030. 2
878270100031. 3

878270100032. 4

Question Number : 98 Question Id : 87827025344 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



YRGS SUHETEHY & Tegmiiors e fefafed § 4 am 4 82
(A) HETTE, TSR, THshol
(B) Fel, fuferererel, qfeeat
(C) TFUe, HETER, STt
(
(

D) @Yd, Iearel, TErmel

E) ¥agdre, fagy, srefrsH
9 feu mu fasredl H 9 WE SR 1 T FIC :
(1)
(2)
(3)
(4)
Options :
878270100029. 1
878270100030. 2
878270100031. 3

878270100032. 4

Question Number : 99 Question Id : 87827025345 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following evidences were found from Mohenjodaro ?
(A) Great Bath

(B) Granary

(C) Dockyard

(D) Fire altar
Choose the correct answer from the options given below :
(1) (B) and (C) Only
) (A) and (C) Only
) (B) and (D) Only
) (A) and (B) Only
Options:

878270100033. 1
878270100034. 2
878270100035. 3

878270100036. 4

Question Number : 99 Question Id : 87827025345 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Trefafad 5 @ o[ 4 w15 Hieasiicel ¥ 9rd gu 9 ?

(A) Taema EFrR
(B) HNR
(C) TIEl (SiHare)
(D) IFaa!

= feu v fasredi § 9 W&t 39T &1 997 hifSU ;
(1) W(B)aﬂ?m

(2) FEE (A) R (C)
(3) ad (B) aﬂ?(m
(4) A (A) R (B)
Options :

878270100033. 1
878270100034. 2
878270100035. 3

878270100036. 4

Question Number : 100 Question Id : 87827025346 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following texts were written by Ashvaghosha ?
A) Balacharitam

(
(B) Sariputraprakarana

(C) Naishodhacharitam

(D) Saundarananda

(E) Mahaviracharitam

Choose the correct answer from the options given below :
(1) (A)and (B) Only

(2) (B) and (C) Only

(3) (B) and (D) Only
(4) (D) and (E) Only
Options:

878270100037. 1
878270100038. 2
878270100039. 3
878270100040. 4

Question Number : 100 Question Id : 87827025346 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Frafafaa 9 9 foa dei ot =971 19a=y 5 &b off ?

(A) =R

(B) HIRGIYRITT
(C) uerafay

(D) HI<RHAS

(B) HeERERay
== fou e fasredi © 9 W& 39 1 FHH HifI
(1) =h9d (A) TR (B)
(2) ad (B) 3R (O)
(3) e (B) 3R (D)
(4) o (D) 3 (E)
Options :

878270100037. 1
878270100038. 2
878270100039. 3

878270100040. 4

Question Number : 101 Question Id : 87827025347 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following sites do not have early Harappan level ?
(A) Lothal

(B) Desalpur

(C) Kot Dy

(D) Gumla

Choose the correct answer from the options given below :
(1) (A)and (C) Only

(2) (A) and (B) Only

(3) (B) and (C) Only
(4) (A) and (D) Only
Options:

878270100041. 1

878270100042. 2

878270100043 3

878270100044. 4

Question Number : 101 Question Id : 87827025347 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafad o 9 forT quere | s1ife sgo &) == o i 8 2
(A) ogd

(B) SHETH
(C) i EIsit

(D) el

== feu U fawmedi § 9 et S9T F1 =TI i
(1) =ad (A) 3R (C)
(2) ad (A) 3R (B)
(3) ad (B) ¥R (C)
(4) Fad (A) $R

Options :

878270100041. 1
878270100042. 2
878270100043. 3
878270100044. 4

Question Number : 102 Question Id : 87827025348 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct about the reign of Firuz Tughlag ?
(A) A Book named Fatuhat-i-Firuz Shahi on Firuz Tughlaq was authored by Barani

(B) Firuz Tughlaq abolished Inam and Idrar

(C) The grants of the teachers were raised from 100-200 tankas to 400 or 500, or 700 or even
1000 tanakas

(D) Students were given stipends of 100 or 200 or 300 tanakas
(E)  Firuz Tughlaq established a hospital at Delhi

Choose the correct answer from the options given below :
(1) (C), (D), {£) Only

(2 (A) (), (D) Only
(3) (), (C), (D) Only
(4) (A) (D), ) Only
Options :

878270100045. 1
878270100046. 2
878270100047. 3

878270100048. 4

Question Number : 102 Question Id : 87827025348 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



iRt e W & el W frefrfan e § 4 A A 9 W@ )

(A) TR T T e ' - ORI e e 1 i e A fo o

(B) ORI e 5 S 6 1 I e

(C) gl %1 S 100-200 281 F TR 400 71500, 71 700 7 T T 6 1000 0 R fem o
(D) Tereniei 1 100 71 200 7 300 241 A e 7 o

(F) o e 7 feet e feeeens 1 e 1 f

At few o foedt o 9 W8 9 1 o WO

{ (C)f(D)r(E
2
3
(

—

)
)
)
Y
Options:

878270100045. 1
878270100046. 2
878270100047. 3

878270100048. 4

Question Number : 103 Question Id : 87827025349 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which out of the following are correct statements :
A) One of the novels of Bankim Chandra Chatterji was Durgesh Nandini

(
(B) Bankin Chandra Chatterji wrote Anand math

(C) Anandmath conatined famous song ‘Vande Mataram'

(D) The first novel of Bankin Chandra Chatterji was Anandmath
(E) Bankim Chandra Chatterji wrote ‘Rajmohan’s Wife’

Choose the correct answer from the options given below :

(1) (A), B) (C) and (E) Only

(2) (A) (B)an ()Only
(3) (A) (B) and (D) Onl

(4) (A) (B), (C) (D) an (E)
Options:

878270100049. 1
878270100050. 2
878270100051. 3
878270100052. 4

Question Number : 103 Question Id : 87827025349 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frfafad 9 9 #F ¥ Fo7 98 § 2

(A) SifeFm =g TSl & ST H § T S 1 A G Al o)
(B) difehw =g w2l A SYFTHS i T i of|

(C) 3THeHe H Yfeg T ‘o Hiawq' sified ¢ |

(D) 3TFGHS sifehH =g =Sl ol YH ST |

(E) dfehH =g =2l 7 ' ToHeH aRE W SUAR forar |
A feu T foehedl § | Wet 3R o1 94 IS0 :

(1) 9 (A), (B), (C) 3R (B)

(2) W (A), (B) 3R (C)

(3) W (A), (B) 3R (D)

(4) (A), () (O (D) #R ()

Options :

878270100049. 1

878270100050. 2

878270100051. 3

878270100052. 4

Question Number : 104 Question Id : 87827025350 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which out of the following are correct about Ramkrishna Paramhamsa ?
A) Ramkrishna Paramahamsa was earlier known as Gadadhar Chattopadhyaya

(

(B) Headopted the vocation of a priest in the temple of goddess Kali
(C) This temple was located at Dakshineswar
(
(

D) His wife's name was Lataman
E

—

He said “many are the names of God, and infinite the forms that lead us to know him. In

whatsoever name or form you desire to call him, in that very form and name you wil see
Him”

Choose the correct answer from the options given below :
(1) (4) (B) (C) Only

(2 (4).8)C) )

(3) (A), () (©). ) Only

(4 (&), () ©) (D) Only

Options:

878270100053. 1

878270100054. 2

878270100055. 3

878270100056. 4

Question Number : 104 Question Id : 87827025350 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T e o e W Frfefan § 4 3R 8 W €7

(A) TR R %1 T IR TEITIeA o T § S 7 4

(B) 3 <ol et o ek H o) 6 e A g o o

(C) 7 iex efiea W e

(D) 7 U 1 W SHAw 41|

(F) 0 o, S o o] T A o ey 6 0 o e €| o o T e 6
R %, 9 S &R T 9 8 e

A e T foedl 0 R S o T Wi

(1) % (4), )

2) (4 ) (C D)

(3) % (4), ®) O, )

(4 @ (4) () ) O

Options :

878270100053. 1

878270100054. 2

878270100055. 3

878270100056. 4

Question Number : 105 Question Id : 87827025351 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct about Akbari architecture ?
A) Only Trabeate style of construction was preferred

B)  The domes were usually of the Lodi type

D) The Khangah built for Nizamuddin Auliya marks the focal point of the city (Sikri)

(

(

(C)  Akbar's creation of a new city at Sikri was to celebrate his victory over Bengal

(

(E) Thebuildings of Akbar were chiefly executed in red sandstone with insertions of white marble

Choose the correct answer from the options given below :
(1) (4) () Only
B), (C) Only

Options:

878270100057. 1
878270100058. 2
878270100059. 3

878270100060. 4

Question Number : 105 Question Id : 87827025351 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e el & el H P o § A W

(A) T = et oo e a8 e 3 o o

(B) T y: 7] et 7 o

(C) &t 71 ekt H 74 W e oo et R 19 ol o 3 ¥ o ferw. foven v o
(D) FATHeg efferen 1 GTTe WA (Siekdt) o rgfe a1 3T el €|

(E) SR % Y TG Tt ajen TR § o & o 0 ke TR 1 e o

w1 o T Tl W 9 Y SRR o] < N

(1) % (4) 6B

) @ (B), ()
(3) () )
) = B) ()
Options :
878270100057. 1
878270100058. 2

878270100059. 3

878270100060. 4

Question Number : 106 Question Id : 87827025352 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct about Mughal nobility ?

(A) The Mughal nobility underwent a first change under Humayun when a few Shiite nobles
were inducted

(B) Akbar Inducted "New Men' Shaikhzadas and Rajputs

(C) The number of Rajputs declined during Shahjahan and Aurangzeb's early year
(

(

—

D) Aurangzeb appointed Jai Singh as the governor of Bengal in 1665
E) Shahjahan promoted and awarded Mansab rank of 7000 to Raja Jaswant Singh
Choose the correct answer from the options given below :

(1) (4). (B),(C) Only

(2) (A) () (C), (D) Only
(3) (&) (B) Only

(4 (4),(C), (D), (E) Only
Options :

878270100061. 1
878270100062. 2
878270100063. 3
878270100064. 4

Question Number : 106 Question Id : 87827025352 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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C) WeTe] iR AT o e T o S gl ) g o e o

D) ST § T %1 3 1665 3 3Tt 71 TR, P o o1

) Wwe] 4 T e i3 1 7000 % T G % N 1 6 740 T o A 44

A e T foedl 0 R S o T Wi

() 4 (4) ), (0

() (A) () () 0)

(3 @ (A) §)

() (A),(C) (), (B

(
(
(
(

Options:

878270100061. 1
878270100062. 2
878270100063. 3

878270100064. 4

Question Number : 107 Question Id : 87827025353 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following Ashokan inscriptions are in the Prakrit language and Kharoshti script ?
(A) Maski

(B) Shahbazgarhi

(C) Shar--kuna

(D) Mansehra

Choose the correct answer from the options given below :

(1) (B)and (C) Only

(2) (B)and (D) Only
(3) (A)and (B) Only
(4) (C)and (D) Only
Options :
878270100065. 1
878270100066. 2
878270100067. 3

878270100068. 4

Question Number : 107 Question Id : 87827025353 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frrefafad o 9 s & M 9 e TFd o 16wl fafg 1§ 82
(A) W&

(B) VG

(€) W-T-FA

(D) WM ¥l

3 few o fore B § WA IR T A
(1) e (B) 31 (C)

(2) & (B) ¥R (D)

(3) A (A) ST (B)

(4) Fa (C) 3R (D)

Options :

878270100065. 1
878270100066. 2
878270100067. 3
878270100068. 4

Question Number : 108 Question Id : 87827025354 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following stone sculpture are associated with the Mauryan period ?
(A) Parkham Yaksha

(B) Sarnath Buddha

(C) Kankali Tila Tirthankara

(D) Didarganj Yakshi

Choose the correct answer from the options given below :
(1) (A)and (B) Only

) (B)and (D) Only

) (A)and (D >0nlv

) (B)and (C) Onl

Options:

2
3
(4
8782701000609. 1
878270100070. 2

878270100071. 3
878270100072. 4

Question Number : 108 Question Id : 87827025354 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frfafad 5 9 @ 9t e giaal 914 #a 9 Safid § 2
(A) TEH I

(B) WA g
(C) chehredl St diefert
(D) <IeIist A&

= feu v fasredi § 9 W&t 39T &1 997 hifSU ;
(1) e (A) 3R (B)

(2) <aE (B) R (D)
(3) HAA (A) ¥R (D)
(4) e (B) ¥R (C)
Options :

878270100069. 1
878270100070. 2
878270100071. 3

878270100072. 4

Question Number : 109 Question Id : 87827025355 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct about Riti writings ?

(A) Keshavdas Mishra reputed as acharya Kavi in Hindi tradition, pioneered Braj Bhasha Riti
Tradition

(B) Keshavdas authored Rasik Priya and Kavi Priya

(C) Chintamani Tripathi, a leading poet of Riti tradition always used Persian Arabic vocabulary
(D) Bhushan Tripathi was the court poet of Shivaji

(E) Bhushan Tripathi's work Shivaraja Bhushan focused on conquests and triumphs of Shivaji

Choose the correct answer from the options given below :

(1) (A). (), (D), (5 Only

(2 ():(Q:():()OHIV
(3) (&) (C) (D) ) Onl
(4 (A) (B) (C) (D) Oul
Options :

878270100073. 1
878270100074. 2
878270100075. 3
878270100076. 4

Question Number : 109 Question Id : 87827025355 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



{ifeerTei o & Hed B Ffefd @ 31 ¥ Fo W E

(A) T o1 W o e v s shver g o s i W % e o)
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(C) Tl U o S el el el Sl et 3 Yecieted! <1 AN % 4 |
(D) o ot et o v} #fl 91

(E) o Furet ot apfe fireerst oqoo) et &t forerel R ohfegd o

el T T Rl H § Wl 3T 1 T o

(1) %A (A), ), (), B

@) % () () (O) @

3) #@ (4) () (D) (B

4) @ (4), (8) ©) (D
Options :
878270100073. 1
878270100074. 2
878270100075. 3
878270100076. 4

Question Number : 110 Question Id : 87827025356 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following dramas were written by Bhasa ?
A) Mrichchhakatikam

B) Pancharatra

D) Kumarasambhava

E) Ritusamhara
Choose the correct answer from the options given below :
(1) (A) and (B) Only

B) and (C) Only

(
(
(C) Svapna-Vasavadatta
(
(

Options:

878270100077. 1
878270100078. 2
878270100079. 3

878270100080. 4

Question Number : 110 Question Id : 87827025356 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Frafafaa § 9 fopa Jresi &1 orga a9 | fema ar?

(

(B) =R

(C) HEH-IMHdETH
(D) FHRHYE

(E) RIHER

== fou e fasredi © 9 W& 39 1 FHH HifI
(1) =h9d (A) TR (B)
(2) ad (B) 3R (O)
(3) () &R (D)
(4) A (A) 3R (Q)
Options :

878270100077. 1
878270100078. 2
878270100079. 3
878270100080. 4

Question Number : 111 Question Id : 87827025357 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following inscriptions are written on a granite rock at Junagarh in Gujarat ?
(A) Shahagora mscription

(B) Rudradaman’s Junagadh inscription
(C) Ashoka's Girnar rock edict
(D) Kharavela's Hathigumpha inscription
Choose the correct answer from the options given below :
(1) (B)and (C) Only
(2) (A)and (C) Only
(3) (C) and (D) Only
(4) (B)and (D) Only
Options:
878270100081. 1
878270100082. 2
878270100083. 3
878270100084. 4

Question Number : 111 Question Id : 87827025357 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ORI % ST feord mee 91 st srfirerg frefafied § 4 @9 9 87
(A) i s

(D) GRee &l B et

Options :

878270100081. 1
878270100082. 2
878270100083. 3
878270100084. 4

Question Number : 112 Question Id : 87827025358 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct about Bhakti Movement ?

(A) Ramanujam wrote devotional poems in early twelfth century and inspired the spread of
devotional Vaishnavism among the masses

(B) Basava advocated tantric practices to foster Lingayat movement
(C) Namdeva a saint from Bengal was associated with Lingayat movement

(D) Vallabhacharya created the awareness of the importance of Krishna bhakti during the late
8.9 centuries

(E) Ramdas popularised the worship of Shiva
Choose the correct answer from the options given below :

(1) ()()()()Olﬂy
D) (A)(C) () Oul

2 &) C
) (A) (D)(
(4 (A) (B) Onl
Options:

878270100085. 1
878270100086. 2
878270100087. 3

878270100088. 4

Question Number : 112 Question Id : 87827025358 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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B) e e fchert 1 el 0 o ferw ifes el a1 el oo

C) T 6 5l e e e g 41

D) 3 83 - 99l YR At | SO o e o Yo SRl 9§ o

E) e A 7 i U 1 i |

A e T foedl 0 R S o T Wi

(1) % (A),(B) (C) (D)

) (4),(C), )

B) 4 (4), (D), (B

() (A), (B

Options:

(
(
(
(

878270100085. 1
878270100086. 2
878270100087. 3

878270100088. 4

Question Number : 113 Question Id : 87827025359 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct about translation work during AKbar's reign ?
A)  Akbar established Maktab Khana in 1360 to sponsor translation of Indian classics into Persian

B) Badauni was actively engaged in Maktab Khana
C) Ramayana was translated with Persian fittle Razmnama

D) Bhagvatha Purana was translated by Todar Mal

—

E) Faizi translated Lilavt

Choose the correct answer from the options given below :

(0 ()@)€ 0
A), (B) (). (8

!
!

Only
Only

Options:

878270100089. 1
878270100090. 2
878270100091. 3

878270100092. 4

Question Number : 113 Question Id : 87827025359 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



R % IR G ST 7  §a v § 4 917 § #9981 ¢

(A) SR 4 TR I 1 o e e o o et 1560 § W T ] S o
(B) et o w0 & e e A e

(C) IV 1 S7aTe e AR Tk i fofe 7 o |

(D) 2IETHe 4 STRTAd I 1 S o o

(E) el el 1 S19are, foe o |

e few T feehedl ) R SR 91 T A

(1) % (A), (8 (0) O

) % (A), B) (D), (B
3) % (B),(), F)
) (A), B) ) 6
Options :
878270100089. 1
878270100090. 2

878270100091. 3

878270100092. 4

Question Number : 114 Question Id : 87827025360 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following terms mentioned in the Rigveda refer to war ?
(A) Gana

(B) Samgrama

(C) Gavishthi

(D) Vrata

Choose the correct answer from the options given below :
(I) (A)and (B) Only

) (B) and (D) Only

) (B) and (C) Only
) |

Options:

878270100093. 1
878270100094. 2
878270100095. 3
878270100096. 4

Question Number : 114 Question Id : 87827025360 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fag H gg 9 Hafuq frafafed 4 9 fo w2 &1 3eog 82
(A) T

(B) w™
(C) wEifes
(D) =
== feu e fasedl § 9 WEr 39 F1 F97 FU
(1) e (A) 3R (B)

(2) e (B) TR (D)
(3) ad (B) 3R (C)
(4) Fad (C) 3R (D)
Options :

878270100093. 1
878270100094. 2
878270100095. 3

878270100096. 4

Question Number : 115 Question Id : 87827025361 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which out of the following are correct ?
A) Mirza Ghalib wrote Dastanbu

(
(B) Mirza Ghalib wrote Panj Ahang

(C) Munshi Prem Chand wrote Premasharam

(D) Munshi Prem Chand wrote Pariksha-guru

(E) Munshi Prem Chand wrote Hindi Bangavasi
Choose the correct answer from the options given below :
(1) (A), (B), (C) Only

(2) (&), (©), (D), (E) Only
(3) (B), (D)

(4)  (B), (©) D), (E) Only
Options:

878270100097. 1

878270100098. 2

878270100099. 3

878270100100. 4

Question Number : 115 Question Id : 87827025361 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Trefafad § 9 b | w8l €7
(A) Tast mfes 3 Sa™e &1 1 6 i |

(B) Tosil wifersl 7 U1 187 M Hfd 1 @A fohan o
(C) UHIHH HIit YH=< i Fid &
(
(

D) YUl Y=< A qien % okl i e o
E) T dwE< A fedt sivrarst =1 eiad foan o |
== feu U fasmed H | Wet UL k1 T HIfS

(1) & (A), (B), (C)
(2) FFd (A), (O), (D), (E)
(3) ad (B), (D), (E)
(4) Fad (B), (), (D), (E)
Options :

878270100097. 1
878270100098. 2
878270100099. 3

878270100100. 4

Question Number : 116 Question Id : 87827025362 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II

Books Author
(A) Candayan () Malik Muhammad Jayasi
(B) Mrigavati (II) Maulana Daud
(C) Madhumalati (II) Mir Sayyid Manjhan Rajgiri
(D) Padmavat (IV) Qutban

Choose the correct answer from the options given below :
(1) (A)-0), B, (©-), D)-1V)

(2)  (A)-1V), (B)-(1D), (C)-(LLL), (D)-(1)
(3) (A1), (B)-(1D), (Q)-IV), (D)-(1)
(4) (A1), B)-(IV), (C)-(I), (D)-(I)

Options :

878270100101. 1
878270100102. 2
878270100103. 3

878270100104. 4

Question Number : 116 Question Id : 87827025362 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



eii-1 | Geii-11 1 e =i

(A) <A () Wi qere S
(B) &l (I) HIAHT 33

(C) HYHTA (III) =R §3& "3 TR
(D) HHTEd (IV) P

= feu v fawedi § 9 W& ST 1 99 HifaU

(1) (A)-1), ( )-(1D), (©)-(III), (D)-(IV)

(2)  (A)-(IV), (B)-(IT), (C)-(III), (D)-(T)

(3)  (A)-(IID), (B)-(II), (O)-(IV), (D)-(I)

(4) (A)-(IT), (B)-(IV), (C)-(III), (D)~(I)

Options:

878270100101. 1
878270100102. 2
878270100103. 3

878270100104. 4

Question Number : 117 Question Id : 87827025363 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.

List -1 List - II
(A) The Geographical Factors in Indian History (I) K. M. Panikkar
(B) Hindu Philosophy () S. C. Bhattacharya
(C) Inspired Writings of Hinduism () Goldstucker
(D) Hindu Civilization (IV) Radha Kumud Mookherji
Choose the correct answer from the options given below :
(1) (AHIV), (BID, (CHI), (DHII)
(2)  (AH), (B, (CHI), (DMIV)
() (A0, (B, (CHUD, (D}1V)
(4) (AR, BHLV), ©-), OO
Options:

878270100105. 1
878270100106. 2
878270100107. 3
878270100108. 4

Question Number : 117 Question Id : 87827025363 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Gelt-1 9 Geit-11 1 el shife :

(A) 3R FRd wifem fadt () % . o
(B) feg foraremi () T, . YR
(C) TEme Wiy i fagsH () TeSEH

(D) fes fafoemesrer (IV) TR TSt
A fou U foehedi # | WE ST h1 A hifol

(1) (A)-IV), (B)-(I), (C)-(IT), (D)-(II)

(2)  (A)-(I), B)-(I), (C)-(I), (D)-(IV)

(3)  (A)-(D, (B)-(T), (O)-(III), (D)-(IV)

(4)  (A)-(I1), (B)-(IV), (C)-(), (D)-(I)

Options:

878270100105. 1
878270100106. 2
878270100107. 3

878270100108. 4

Question Number : 118 Question Id : 87827025364 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
List - I List - II
Ruler Dynasty
(A) Kharvela (I) Haryanka
(B) Bimbisara (I) Shaka Kshatrapa
(C) Vasudeva (IITI) Chedi dynasty
(D) Rudradaman (IV) Kushana
Choose the correct answer from the options given below :
(1) (A)-(IV), (B, (1), (D)-(I
(2) (A, (B)-1), (O-AV), (D)-(I)
(3) (A1), B)-), (-, (D}-IV)
(4) (A, (B-(I), (O-(IV), (D)-(II

Options :

878270100109. 1
878270100110. 2
878270100111. 3

878270100112. 4

Question Number : 118 Question Id : 87827025364 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



eit-1 | Geit-11 %1 el i
qeit-1 gHi-11

YTk T=TE9T
(A) @RAIA () &%
(B) fafrs@R (I) ¥ &Y
(C) aHed (n  =fe TsEy
(D) ®&<HT (LV) &9

= feu U fasredi ° 9 |WEt 39T F1 997 HifSU ;

(1) (A)-(IV), (B)-(ID), (C)-(D), (D)~(I1)
(2)  (A)-(1D), (B)-(I), (O)-(1V), (D)-(I)
(3)  (A)-(ID), (B)-(I), (©)-(D), (D)-(IV)
(4)  (A)-(D), (B)}-(IT), (O)-(IV), (D)~(II)
Options:

878270100109. 1
878270100110. 2
878270100111. 3

878270100112. 4

Question Number : 119 Question Id : 87827025365 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
List - I List - II
Scholar Theories
(A) Mortimer Wheeler ()  Flood and tectonic movement led to the decline of Harappan

civilization
(B) M.R Sahni () Aryan invasion led to the decline of Harappan civilization
(C) H.T. Lambrick (D) Onset of drier climate led to the decline of Harappan Civilization

(D) Gurdip Singh (IV) Change in the course of Indus river led to the starvation of water
to the inhabitants of Mohenjodaro that led to the decline of the
sife

Choose the correct answer from the options given below :

(1) (AHI), BHD, CHY), DK

@) (A, (BHIV), (CH0), (DK

5) (A, (BHI), (CH1), (1)

[4) (AHD, (3K, (CHIm), (DHIV)

Options:

878270100113. 1

878270100114 2

878270100115. 3

878270100116. 4

Question Number : 119 Question Id : 87827025365 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



oL 8 oI 7 o e

Tl bl
fog figa

(A) Ao e () S 59 1 T g U foite e & 0 g

(B) T, . Wl (1) 31 2R 61 T ST SR o 0 3

Q) WA dE () 5 H T [ S & AR g

(D) T fiE (V) T 7} % Yo e & R A e & a0 9 A 9 9
A1 Y T el ] T g

T o T ol 9 R0 90 91 7 i ¢

(1) (A, (B0, (CH{IV), (D}{II)

(2) (AHI, (BHIV), (C)-(0), (DHT)

(3)  (AMV), (BHII, (C1(), (D)-0)

(4) (AH), (BH(I), (CH{IL), (D(IV)

Options :

878270100113. 1
878270100114. 2
878270100115. 3

878270100116. 4

Question Number : 120 Question Id : 87827025366 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
State Capitals
(A) Vatsa (I)  Vaishali
(B) Vriji (II) Kaushambi
(C) Shurasena (III) Mathura
(D) Koshala (IV) Shravasti

Choose the correct answer from the options given below :
(1) (A1), B)-1), (O-(IL), (D)-IV)

(2) (A1), B)-(1), ©)-(1), (D)}-1V)
(3) (A1), (B)-(I), (O)-(1V), (D)-(IL)
(4)  (A)-(1), B)-(1), (O-(V), (D)-(I)
Options :

878270100117. 1

878270100118. 2

878270100119. 3

878270100120. 4

Question Number : 120 Question Id : 87827025366 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



eit-1 | Geit-11 %1 el i

(A) & 1)  emet
(B) 3fa (I)  =RImes
(C) IET (IT) A

(D) hINTA (IV) grait

= feu U fasredi ° 9 |WEt 39T F1 997 HifSU ;

(1) (A)-(ID), (B)-(1), (O)-(III), (D)-(IV)
(2)  (A)-(I), (B)-(), (©)-(D), (D)-(IV)
(3)  (A)-(), (B)-(I), (O)-(1V), (D)-(I)
(4)  (A)-(I), (B)-(I), (O)-(IV), (D)-(IT)
Options:

878270100117. 1
878270100118. 2
878270100119. 3

878270100120. 4

Question Number : 121 Question Id : 87827025367 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.

List - I List - II
(A) Pautavadhyaksha () Chief Controller of Weights and Measures
(B) Sutradhyaksha ()  Chief Textile Commission
(C) Navadhyaksha () Chief Superintendent of Crown Lands
(D) Sitadhyaksha (IV) Chief Controller of Shipping

Choose the correct answer from the options given below :

(1) (AHIV), (B, (C)-(I), (D
(2 (AHD, (BRI, (C)-(IV), (D))
(3) (AR, B)-(0), (O-1V), (D))
(4) (AR, (B, (C-(IV), (D)-)
Options:

878270100121. 1
878270100122. 2
878270100123. 3

878270100124. 4

Question Number : 121 Question Id : 87827025367 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Gell-1 9§ Geit-11 1 firel Hife

( () o1 Td 19 & g 199
(B) A () A el A

(C) aneAy () TS19fd 1 99E e
(D) Hidreas (IV) g&1 Aftaed s
e feu U foshedl H § Wet 3R 1 934 HifC -

(1) (A-IV), (B)-(IH), (C)-I), (D)-)

(2)  (A)-(I), (B)-(ID), (C)-(IV), (D))

(3) (A, (B)-1), (O-(1V), (D))

(4)  (A)-(ID), (B)-(ID), (©O)-(IV), (D)-(I)

Options:

878270100121. 1
878270100122. 2
878270100123. 3

878270100124. 4

Question Number : 122 Question Id : 87827025368 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.
List - I List - II
(A) Nagara (I) ~ Mahabalipuram temple
(B) Vegara (I) Mahadeva temple at Nachna Kuthara
(C) Dravida () Parvati temple at Nachna Kuthara
(D) Narasimha I (IV) Virupaksha temple
Choose the correct answer from the options given below :
(A1), (BH), (C-II), (DHIV)

(1)

(2) (A)-(I), B)-AV), (C)-(I), (D)-(])
(3) (A, B}IV), (Q-(L), (D))
(4)  (A)-1V), B)-(U), (©)-(1), (D))

Options:

878270100125. 1
878270100126. 2
878270100127. 3

878270100128. 4

Question Number : 122 Question Id : 87827025368 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 Geit-11 %1 e ifs
qeil-1 TEl-11

(A) HIH () HeEEfyH A

(B) AR (I) =1 F3R Heled HieL
(C) wfas (I) <=1 F3R e Hfa
(D) RfEEI (V) foeare Hfex

(1) (A)-(D), (B)-(ID), (O)-(IL), (D)-(IV)
(2)  (A)-(D), (B)-1V), (©)-(I), (D)-[0)
(3)  (A)-(II), (B)-(IV), (O)-(1I), (D)-(I)
(4)  (A)-(1V), (B)-(III), (O)-(1I), (D)-(0)
Options:

878270100125. 1
878270100126. 2
878270100127. 3

878270100128. 4

Question Number : 123 Question Id : 87827025369 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
List - I List - II
Rulers Dynasty
(A) Jayasimha (I) Chola
(B) Kamba (I) Rashtrakuta
(C) Govinda Varman (III) Pallava
(D) Aditya II (IV) Chalukya
Choose the correct answer from the options given below :
(1) (A1), (B)-(I), (O-(III), (D)-(IV)
(2) (A)-1V), (B, (O)-(1), (D))
(3) (A1), B)-), ©)-(D, (D)-(IV)
(4)  (A)IV), (B)(ID), (C)-(), (D)-(1)

Options :

878270100129. 1
878270100130. 2
878270100131. 3

878270100132. 4

Question Number : 123 Question Id : 87827025369 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



eit-1 | Geit-11 %1 el i
qeit-1 gHi-11

Yk LG
(A) SHEfHE O =
(B) d () ke
(C) Tfar<ada (IIT) geaTd
(D) affeeH I (IV) =T

= feu U fasredi ° 9 |WEt 39T F1 997 HifSU ;

(1) (A)-D), (B) (), (O, (D)-(1V)
(2)  (A)-(IV), (B)-(I), (O)-1), (D)-(I)
(3)  (A)-(ID), (B)-(), (©)-(D), (D)-(IV)
(4)  (A)-(IV), (B)-(IT), (O)-(T), (D)-(T)
Options:

878270100129. 1
878270100130. 2
878270100131. 3

878270100132. 4

Question Number : 124 Question Id : 87827025370 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
Texts of Mathematics Author
(A) Ganitatilaka (I) Brahmagupta
(B) Bijaganita (I) Shripati
(C) Panchasiddhantika (IIT) Varaha Mihir
(D) Brahmasphutasiddhanta (IV) Bhaskaracharya II

Choose the correct answer from the options given below :
(1) (A1), (B)-(IV), (O-(IH), (D)-(IT)

(2)  (A)-1), (B)-(1), (O-(1V), (D)-()
(3) (A1), (B)-1V), (©)-(I), (D)-(0)
(4)  (A)-(IV), (B)-(ID), (O)-D), (D)-(I)

Options :

878270100133. 1
878270100134. 2
878270100135. 3
878270100136. 4

Question Number : 124 Question Id : 87827025370 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



eit-1 | Geit-11 %1 el i
qeit-1 gHi-11

T o AA [GECED
(A) TIioTa feferen () ST«
(B)  ITSFTIUIG () diafa
(C) dafagifas (1) =RrefAfex
(D) SEERfEgTd (IV) YRR 11

= feu Tu fasreqi § 9 W& 39 1 F97 HifAU

(1) (A)-(D), (B)}-(IV), (O-(), (D)-(II)
(2)  (A)-(10), (B)-(I), (©)-(IV), (D)-(I)
(3)  (A)-(ID), (B)-(1V), (O)-(I), (D)-()
(4)  (A)-(IV), (B)-(II), (O)-I), (D)-(IT)
Options:

878270100133. 1
878270100134. 2
878270100135. 3
878270100136. 4

Question Number : 125 Question Id : 87827025371 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL

List - I List - II
(A) Paramahansa mandali () Maharashtra
(B) Sarin Sabha () Punjab
(C) Sri Narayan Dharma Pratipalana Sabha (III) Kerala
(D) Kayastha Sabha (Iv) U.P
Choose the correct answer from the options given below :

(1) (A)-(D), (B)-(I), (CHIV), (D)-(I)
(2)  (A)-0), B)-(I), (O, (D}(IV)
(3) (A, B}-(1D), (©-(1), (D}(IV)
(4 (AHIV), (B)-(I1), (C)-(I), (D)-1)
Options:

878270100137. 1
878270100138. 2
878270100139. 3

878270100140. 4

Question Number : 125 Question Id : 87827025371 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ei-1 | Fei-11 1 frers =i
'FEI"T—I -11

(A) TURH Hewl () HeRTe
(B) H{HF |l () ST
(C) 4t R g gfqarer 9l (IIT) k<A
(D) TR Gl (IV) ST <9

== feu e fasedi § 9 W& 9L F1 997 HIfIU

(1) (A)-D), (B)-(D), (O~1V), (D)-(11T)
(2)  (A)-(1), (B)-(I), (C)-(I1D), (D)-(IV)
(3) (A)-(1D), (B)-(IT), (O)-(D, (D)-(IV)
(4)  (A)-(IV), (B)-(ID), (C)-(I1T), (D)-(D)
Options:

878270100137. 1
878270100138. 2
878270100139. 3

878270100140. 4

Question Number : 126 Question Id : 87827025372 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following in a chronological order starting from the earliest :
A) Jyotiba Phule starts a girls" school at Poona

B) Calcutta college of Engineering founded

D) Birth of Swami Vivekananda

(
(
(C) Keshab Chandra Sen becomes the Acharya of the Brahma Samaj
(
(E) Prarthana Samaj inaugurated in Bombay

Choose the correct answer from the options given below :
1) (4) ®) € E) O

2) (A), (B) () (D), (E)
(3)  (B) (A), (), D) E)
(4)  (B), (A), (D), (), (©)
Options:

878270100141. 1
878270100142. 2
878270100143. 3

878270100144. 4

Question Number : 126 Question Id : 87827025372 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



freafafad =1 sTEaH § YRy ek FIeh H Fafed Sifa
(A) SHfden $ed = g1 H Sifereht formerd gy foma |

(B) hetehtl hictsl 11T ST shl TG ki T8

(C) hvre =g B SRl TS o = dq

(D) Tt foesh= 1 54

(E) Tl ¥ Y11 HHTS ol YURY

A= feu o fosredi § 9 WE 39T &1 T3 Hif9T
(1) (A), (B), (O), (E), (D)
(2) (A), (B), (©), (D), (E)
(3) (B) (A), (©), (D), (E)
(4) (B), (A) (D), (E), (O

Options:

878270100141. 1
878270100142. 2
878270100143. 3
878270100144. 4

Question Number : 127 Question Id : 87827025373 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following wares ina chronological order starting from the earliest dates of appearance
(A) Red ware

(B) Ochre - Coloured Pottery (OCP)
(C) Pamted Grey Ware (PGW)
(D) Northen Black Polished Ware (NBPW)

Choose the correct answer from the options given below :
(1) (4).(C), 0) ()

2 (8) (C), D) (4)
B (©) @) 6)0)
(4 (A)(®) [0
Options:

878270100145. 1
878270100146. 2
878270100147. 3

878270100148. 4

Question Number : 127 Question Id : 87827025373 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fAwferfiad qawiel 1 7 T S o1 SR fafel o SIEm SHenmm | oFafedd if
(A) eI e

(B) Tt HewiE (a1 )

(C) fafx g asfe (1 of g

(D) S o WlerIeR s (T it 1t e

4 few T foered H 4§ Wt 3R T H

(1) (@A) (© ) @)
2




Options :

878270100145. 1
878270100146. 2
878270100147. 3

878270100148. 4

Question Number : 128 Question Id : 87827025374 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Arrange the following gardens in order of their construction starting from the earliest
(A) Qudsiya Bagh
(B) Sahibabad
(C) Nasim Bagh
(D) Shalimar

(

E) Nishat Bagh

Choose the correct answer from the options given below
(1) () (©) () (), (4)

2) (O () () D) (4)

(3) (&), (8). (€ ). (D

(4 () (&), 6 © E

Options:

878270100149. 1
878270100150. 2
878270100151. 3

878270100152. 4

Question Number : 128 Question Id : 87827025374 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



freAferfiad sl a1 e IO o SAifeam § YR Hth SsrH oafed e ;
(A) FRE am

(B) Wifgameg

(C) HIH &

(D) TR

(B) o =

e fou T ol | 9 Wl I &1 9 i
(1) (&) (©), (D) B), (4)
(2)
(3)
(4)
Options :
878270100149. 1
878270100150. 2
878270100151. 3
878270100152. 4

Question Number : 129 Question Id : 87827025375 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the size of the sites of Indus Valley Civilisation beginning from the largest to the smallest :
(4) Dholavira

(B) Harappa

(C) Mohenjodaro

(D) Rakhigarhi

Choose the correct answer from the options given below :

1) ()60, 0)

Options:

878270100153. 1
878270100154. 2
878270100155. 3

878270100156. 4

Question Number : 129 Question Id : 87827025375 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fe o191 992 % Fametim w9l 1 ST o SR e S § B2 oW H o7 ol
(A) TR

(B) &

) eI

D) T

At feu T fokedt 2 ) S o W A0
(1) (A) @) (C).0)

2 (©)©) (4) D)

3 (D) (C)f( ) (A)

4



Options :

878270100153. 1
878270100154. 2
878270100155. 3
878270100156. 4

Question Number : 130 Question Id : 87827025376 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Arrange the following texts in Vedas order :
(A) Pippalad Samhita

(B) Shakala Samhita
(C) Katha Sambhita
(D) Ranayaniya Sambhita
Choose the correct answer from the options given below :
(1) (©), D), (4), (B)
B). (O, (D), (A)
, (4), (B), (©)
)

Options:

878270100157. 1
878270100158. 2
878270100159. 3

878270100160. 4

Question Number : 130 Question Id : 87827025376 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fr=fafaa v <1 <l & A ° orafeg wifsu

(A) Turere |fsd
(B) 9Iehed il
(C) 3 Hfedl

(D) U i

== feu 7Tu forepedi § | W ST 1 =4 HIS
(1) (©), (D), (A), (B)

(2)  (B), (©), (D), (A)

(3) (D) (A) (B), (O

(4) (A) (B), (O), (D)

Options:

878270100157. 1

878270100158. 2

878270100159. 3

878270100160. 4

Question Number : 131 Question Id : 87827025377 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the temples in a chronological order starting from the earliest date :
(A) Lingaraja Temple

(B) Purushottama temple at Puri

(C) Brihadishvara temple at Tanjore

(D) Dashavatara temple at Deogarh

Choose the correct answer from the options given below :

(1) (D) (©) (A) ®)



Options :

878270100161. 1
878270100162. 2
878270100163. 3

878270100164. 4

Question Number : 131 Question Id : 87827025377 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafea it =i snfeay fafy & saR srafem Fifsa
(A) faTS Hfew

(B) &S Hfey, g

(D) TMEAR iR, Ta7e

=< feu U faskredi § 9 W&l 39X F1 9949 HifT ;

(1) (D), (©), (A), (B)
(2) (A), (B), (©), (D)
(3) (©), (D), (B), (A)
(4) (B), (O), (D), (A)
Options:

878270100161. 1
878270100162. 2

878270100163. 3

878270100164. 4

Question Number : 132 Question Id : 87827025378 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Arrange the following European travellers in order of their arrival in India starting from the
earliest

(A) Edward Terry

(B) Francois Bernier
(C) Ralph Fitch

(D) Francisco Pelsaert
(E)  William Finch

Choose the correct answer from the options given below :
(1) (), (), (4), D), ®

(2) (A), (), (D), €,
() (C) (D) (B) (A), ()
(4 (E) (©), (&), (D), ()
Options :

878270100165. 1
878270100166. 2
878270100167. 3

878270100168. 4

Question Number : 132 Question Id : 87827025378 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



freAferfiEd ZRdr A i fedH | SHY ik SN H Hared hifo :
(A) TewE

(B) WdaEH af
(C) T
(
(

E) faferm o=
i fou T faedl | U Hel 3T 1 99 il ;

Options:

878270100165. 1
878270100166. 2
878270100167. 3
878270100168. 4

Question Number : 133 Question Id : 87827025379 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following events in chronologital order starting from the earliest :
A) Death of Krishnadeva Raya

(
(B) Babur occupies Kabul

(C) Abdur Razzak comes to India

(D) The Portuguese capture Goa

(E) Death of Guru Nanak

Choose the correct answer from the options given below :

(1) (A), ®)(©), ) E

(
2) (©), (B), (D) (A) ()
(3) (B), (O, (D) (A), ()
(4) (O (&) () (B), (D)
Options:

878270100169. 1
878270100170. 2
878270100171. 3

878270100172. 4

Question Number : 133 Question Id : 87827025379 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafed sesll @ nfeam ¥ YRY Fih Heprd H afed Hifa ;
(A) FOIeE T i 5
B) &R ol HIge W hesT

(

(C) 3FESH &1 WRd SAFTHA
(D) el W Jamicrdi < shesl]
(

E) T 7% % g
e fou U fasedi § 9 WE S 1 T HIf
(1) (A), (B), (©) (D), (E)
(2) (©), (B), (D), (A), (E)
(3) (B) (O), (D), (A), (E)
(4) (C). (A), (E), (B), (D)
Options:

878270100169. 1
878270100170. 2
878270100171. 3

878270100172. 4

Question Number : 134 Question Id : 87827025380 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following inscriptions in the correct chronological order :
(A) Madhuban inscription

(B) Hathigumpha inscription

(C) Mat inscription

(D) Allahabad Pillar inscription

Choose the correct answer from the options given below :

(1) B),(4) ©) ©)
(2) () (D) (©) (&)
(3) (A) (B), (), D)
(4) () (©), D), (A)

Options:

878270100173. 1
878270100174. 2
878270100175. 3

878270100176. 4

Question Number : 134 Question Id : 87827025380 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tr=fafad sifveral i 98l sy | SHafedd Hifag

(A) AYsA e
(B) @R 3AfreiE
(C) R FHfveE

(D) EmEER WY e
= feu v fosreq § 9 Wel 9% &1 999 hifau ;
(1) (B), (A), (O), (D)



Options :

878270100173. 1
878270100174. 2
878270100175. 3

878270100176. 4

Question Number : 135 Question Id : 87827025381 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following events of the 17 century in chronological order starting from the earliest :
) Firman granted to the English company by Shuja

B)  Hawkins arrives at Agra

(A
(
(C) Execution o f Guru Teg Bahadur
(D) First Maratha raid on Malwa
(

E) Thomas Roe leaves India
Choose the correct answer from the options given below :

(1) (B) (E) (4) € (D
(2 (A). (), (€, (D), (B
() () O) C) (A) {
(4 (4).(C), () B) &
Options:

878270100177. 1
878270100178. 2
878270100179. 3
878270100180. 4

Question Number : 135 Question Id : 87827025381 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

17l vieec] 1 Frtfetfn sreiafl 1 afedn 9 T ek FefRn H et i :
(A) Y1 G SfISH Sl 2Bl Y et e T

(B)  eR=H 1 SR ST

(C) TF THRIGE TS

(D) HIETl R §H ST SHHT

(E) S8 11 31 I §

Tt fou o foeredl | 9 W S T Ff
(1) (8), (E), (A), (), (D)
(2) (A) (), (©) (D) ()
() (8), (D), ©) (A), )
(4) (A)(©), D) B) €

Options :

878270100177. 1
878270100178. 2
878270100179. 3

878270100180. 4

Question Number : 136 Question Id : 87827025382 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) :  Most of the writings of Harappan Civilization appears on seals and sealings. The
longest mscription has 26 signs.

Statement (1) : There are 400-450 basic signs in Harappan scripts. The script is logo syllabic.
Longer inscriptions are somelimes written in boustrophedon style.

[n the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I s correct but Statement II is incorrect
(4)  Statement Iis incorrect but Statement I is correct

Options:

878270100181. 1
878270100182. 2
878270100183. 3
878270100184. 4

Question Number : 136 Question Id : 87827025382 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270100181. 1

878270100182. 2

878270100183. 3
878270100184. 4

Question Number : 137 Question Id : 87827025383 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : - Excavations at Taxila conducted by John Marshall have shown continuous urban
life in Taxila from 500 BCE to 500 CE

Statement (II) : Admission in Taxila was open to pupils of all castes with sole exception of the
chandalas

[n the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2

(
3
4

] Both Statement I and Statement II are incorrect
) Statement 1 is correct but Statement II is incorrect
) Statement I is incorrect but Statement I is correct

Options:

878270100185. 1
878270100186. 2
878270100187. 3

878270100188. 4

Question Number : 137 Question Id : 87827025383 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A ¢ A g

O (1) ;9 FITH 30 T 1 S e T 1 50039, % 5003, 6 e W
T e 71 e fe 21
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TR FH & 6, T fou o o 4 R S o @i

(1) HRIAR R 59 ¢

() BRI FR I o g

(3) HURIHA 3, ol B9 11 0 ¢

(4) O 1 8 2, eif o 11960 ¢



Options :

878270100185. 1
878270100186. 2
878270100187. 3
878270100188. 4

Question Number : 138 Question Id : 87827025384 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) : The Kushanas were the first dynasty of the subcontinent to mint large quantities
of gold coins

Statement (II) : They also issued many copper coins of low denominational value

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2
3
(

Both Statement [ and Statement II are mcorrect

4

)
) Statement I is correct but Statement II s incorrect
) Statement I 1s incorrect but Statement I1 is correct

Options:

878270100189. 1
878270100190. 2
878270100191. 3

878270100192. 4

Question Number : 138 Question Id : 87827025384 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270100189. 1
878270100190. 2
878270100191. 3
878270100192. 4

Question Number : 139 Question Id : 87827025385 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statement : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : The Nayaka rulesin Tamilnadu extended roughly from the early sixteenth century
to the 17305

Reason (R) :  The Tanjaur Nayakas were especially known for their patronage of Sanskrit and
regional literature most notably in the genre of dance drama known as Yakshagana

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A)is correct but (R) is not correct

(4)  (A) s not correct but (R) is correct



Options :

878270100193. 1
878270100194. 2
878270100195. 3
878270100196. 4

Question Number : 139 Question Id : 87827025385 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A ¢ Fo fu MR
®OF (1) : TG W o W e AR AT ereal ) W 1730 o 20 0 o1

HU (11) : TR T ey 59 B 94T 7% 77 T2 et ¥ 4 e 1 T W 7 % fet
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3T FF & o ¥, 9 0 0 fomedi § 9 W S 9 i
(1) ORI FR 7 §

() AR 9 §

(3) 1 ¥ 3, el o 11 5969 ¢

() RO 9 %, e T 1

Options:

878270100193. 1
878270100194. 2
878270100195. 3
878270100196. 4

Question Number : 140 Question Id : 87827025386 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (I) : Charles Grant was hostile to Indian traditions, called them barbaric and
propagated the policy of assimilation of India into the great civilizing mission of
Britain

Statement (II) : T. B. Macaulay’s task to civilise Indians was supported by British merchant
community as they would benefit from civilising mission’s laws to acquire property

etc. in India and under ‘free trade” they could work out the problems of creating
a market for British goods amongst the Indians

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

(
3
(

Both Statement I and Statement II are incorrect

4

)
) Statement [ 15 correct but Statement II is incorrect
) Statement I 1S incorrect but Statement I1 is correct

Options:

878270100197. 1
878270100198. 2
878270100199. 3
878270100200. 4

Question Number : 140 Question Id : 87827025386 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1 €1 o oy T o afrme (A) 3 9 A il 0 S o () & F9 6 ¢

STV (A): TR e e el % oo & S 5 e (/e W) @ g S o
fo2 g 9 Tt O W TG o SRR o AT 1 el o

FRO(R): ol Wl G YR 1§ T o ) ol ST o e T g
e & e U 3o, o o o fere Fort o fel 4 fee (o) o
e T ST SR SATOR, o6 A4 o R h ST ffow ] gl o ferw o
o o 1 FHRIA ] 3l R I

TR e % ot W, 4 fow T e 4 W@ 7
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() (A)F ¢, A (R) 59 2

(4) (A) 5 3, T (R) T R

Options :

878270100197. 1

878270100198. 2

878270100199. 3
878270100200. 4

Sub-Section Number : 2
Sub-Section Id : 8782701105
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827025387 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



Read the passage and answer the following question :

They see the Indian struggle against imperialism as a mock battle (‘mimic warfare’), ‘a Dassehra
duel between two hollow statues, locked m motiveless and simulated combat’

Sub questions

Question Number : 141 Question Id : 87827025388 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The view expressed in the passage reflects the view of which school ?
(1) Subaltern

(2) Nationalist

(3) Cambridge

(4) Marxist
Options :

878270100201. 1
878270100202. 2
878270100203. 3

878270100204. 4

Question Number : 142 Question Id : 87827025389 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The historiographical School mentioned in the passage considers the leaders of the national
movement as .

(1) Religious saints

2)  Contractors and sub-contractors

2
() Cultural leaders
(4) Industrialists

Options :

878270100205. 1



878270100206. 2
878270100207. 3

878270100208. 4

Question Number : 143 Question Id : 87827025390 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Out of the following which historian follows the ideals of the historiographical School, the ideals
of which have been expressed in the passage ?

(1) . A Gallagher
(2) Richard Gordon
(3) Randolf Cooper
(4) G.P. Pradhan

Options :

878270100209. 1
878270100210. 2
878270100211. 3
878270100212. 4

Question Number : 144 Question Id : 87827025391 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Regarding the ideas of historiographical School mentioned in the passage, which historian stated
that ‘Namier was accused of taking the mind out of polifics; this School has gone further and taken
not only the mind but decency, character, integrity and selfless commitment out of the Indian
National Movement

(1) Amles Tripathi
(2) B.R Nanda
(3) S Gopal

(4) A C Mazumdar



Options :

878270100213. 1
878270100214. 2
878270100215. 3

878270100216. 4

Question Number : 145 Question Id : 87827025392 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

[n the passage, the view ‘a Dassehra duel between two hollow statues, locked in motiveless and
simulated combat’ is written by ;

(1) Ani Seal
(2) V. Chirol

(3) George Hamilton
(4) Judith Brown
Options :
878270100217. 1
878270100218. 2
878270100219. 3

878270100220. 4

Question Id : 87827025387 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension

Py T 3 WA Wl A 9 Tl A o A
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Sub questions



Question Number : 141 Question Id : 87827025388 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T o eHfviered e frefoifad 5d 5 9 oy fommem @i glafdfod &t e ?

(1) e
(2) U=l
(3) e
(4) AT
Options:

878270100201. 1
878270100202. 2
878270100203. 3

878270100204. 4

Question Number : 142 Question Id : 87827025389 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T 3feeiian 3iier o I TR SAgAa & el # Fedte € ° 0 ¢
it Tq

Options:

878270100205. 1
878270100206. 2
878270100207. 3



878270100208. 4

Question Number : 143 Question Id : 87827025390 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

fretrfan © § 1 1 e 3ioer o Wl o e H Sen e ¢, forer fam T
SR

Options :

878270100209. 1
878270100210. 2
878270100211.3

878270100212. 4

Question Number : 144 Question Id : 87827025391 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T ¥ S 3foem o W o e & wed ¥ o s wa
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e fed



Options :

878270100213. 1
878270100214. 2
878270100215. 3

878270100216. 4

Question Number : 145 Question Id : 87827025392 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

T e 2 et S ) e o o 7 g ¥ AT g T
RS

Options :

878270100217. 1
878270100218. 2
878270100219. 3

878270100220. 4

Sub-Section Number : 3
Sub-Section Id : 8782701106
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 87827025393 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (146 to 150)



Question Label : Comprehension

Read the passage carefully and answer the following question :

Under a series of capable rulers, Vijayanagar emerged as the most powerful and wealthy state in
the South during the first half of the fifteenth century. A number of travellers who visited Vijayanagar
during the period have left a graphic account of the city and the country. Nicolo conti who visited
Vijayanagar, says of the city “The circumference of the city is sixty miles, its wall carried upto the
mountains and enclose the valley at their foot .. . in this city there are estimated to be ninety thousand
men fit to bear arms, Their king is more powerful than all the other kings in India”, Ferishta also says
“The princes of the houses of Bahmani maintained their superiority by valour only; for in power, wealth
and extent of the country, the rayas of Bijanagar greatly exceeded them”.

Sub questions

Question Number : 146 Question Id : 87827025394 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Who among the following says that the troops in Vijayanagar numbered around eleven lakhs ?
(1) Edoardo Barbosa

) Nicolo Conti

) Ferishta

4) - Abdur Razzaq

2
3
Options :

878270100221. 1
878270100222. 2

878270100223. 3
878270100224. 4

Question Number : 147 Question Id : 87827025395 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



When did Abdur Razzaq come to India ?
(1) 15t Century

(2) 14t Century

(3) 13™ Century

(4) 16% Century

Options:

878270100225. 1

878270100226. 2

878270100227. 3

878270100228. 4

Question Number : 148 Question Id : 87827025396 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who among the following visited Vijayanagar at the court of Deva Raya II ?
(1) William Finch

2
3
4

(2) Bernier

(3) Abdur Razzaq
(4) Peter Mundy
Options :
878270100229. 1
878270100230. 2
878270100231. 3

878270100232. 4

Question Number : 149 Question Id : 87827025397 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



When did Nicolo Conti visit Vijayanagar ?

(1) 1420
(2) 1440
(3) 1460
(4) 1480
Options:

878270100233. 1
878270100234. 2
878270100235. 3

878270100236. 4

Question Number : 150 Question Id : 87827025398 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which nation did Nicolo Conti, belong to ?

(1) Belgium

(2) England

(3) France

(4) Italy
Options :

878270100237. 1
878270100238. 2
878270100239. 3

878270100240. 4

Question Id : 87827025393 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 87827025394 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frrferfan § 3 fog Fa & o foommm & 871 <01 =i 9o e T o 67
WEEEEEEEE

()
(3) i
(4) TR
Options :
878270100221. 1
878270100222. 2
878270100223. 3

878270100224. 4

Question Number : 147 Question Id : 87827025395 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



3Teg{sslh {RA &d 341 o1 7

(1) 1573 &1 §

(2) 147 w&H

(3) 137 wa&r H

(4) 1673f wSt H
Options :

878270100225. 1
878270100226. 2
878270100227. 3

878270100228. 4

Question Number : 148 Question Id : 87827025396 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fersr TR # <ot 11 & @R 4 fefafed 9 9 siF e on?
(1) fafezm fr=

(2) wfH=

() ST
(4) R HE
Options :
878270100229. 1
878270100230. 2
878270100231. 3

878270100232. 4

Question Number : 149 Question Id : 87827025397 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

el st A fasr R &t A= e i ?
(1) 1420

(2) 1440

(3) 1460

(4) 1480

Options :

878270100233. 1
878270100234. 2
878270100235. 3

878270100236. 4

Question Number : 150 Question Id : 87827025398 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

freptell il fohg U2 1 fHamdt o ?
(1) sifesrs

(2) TS

(3) wrE

(4) s

Options :

878270100237. 1
878270100238. 2
878270100239. 3

878270100240. 4



